¢ VERTIV.

Vertiv'™ Aisle Containment
System (VACS)

User Manual



Vertiv™ Aisle Containment System (VACS) User Manual

The information contained in this document is subject to change without notice
and may not be suitable for all applications. While every precaution has been
taken to ensure the accuracy and completeness of this document, Vertiv
assumes no responsibility and disclaims all liability for damages result from
use of this information or for any errors or omissions.

Refer to local regulations and building codes relating to the application,
installation, and operation of this product. The consulting engineer, installer,
and/or end user is responsible for compliance with all applicable laws and
regulations relation to the application, installation, and operation of this
product.

The products covered by this instruction manual are manufactured and/or sold
by Vertiv. This document is the property of Vertiv and contains confidential
and proprietary information owned by Vertiv. Any copying, use, or disclosure of
it without the written permission of Vertiv is strictly prohibited.

Names of companies and products are trademarks or registered trademarks of
the respective companies. Any questions regarding usage of trademark names
should be directed to the original manufacturer.

Technical Support Site

If you encounter any installation or operational issues with your product, check the pertinent section of this
manual to see if the issue can be resolved by following outlined procedures.

Visit https://www.vertiv.com/en-us/support/ for additional assistance.

Vertiv™ Aisle Containment System (VACS) User Manual


https://www.vertivco.com/en-us/support/

Vertiv™ Aisle Containment System (VACS) User Manual

TABLE OF CONTENTS

Timportant Safety INStrUCHIONS ... .. . . . 1
2 Product OVervieW .. . il 3
2 Product FeatUres . . 3
2.2 Appearance and COMPONENTS . ... ...t e e e e e e e e e 4
2.3 Weight Bearing Capacity ... e e e 5
2.4 SKU LISt ot 5
25 Environmental ReqUIremMeNtS _ . . .. 8
251 Operating Conditions . . ... il 8
252 Storage ConditionS . ... ..o e 8
25.3 Clearance ReqUITeMeNtS . .. .. 9
254 Floor LOading . .. e n
3 Pre-Installation ... . .. . 13
37 INSLAllAtioN TOOIS . . .. ettt e e e e e e e e e e e 13
3.2 Equipment Handling, Unpacking, and INSpection . ... ... e e e 14
Ginstallation ... ... L 19
4.1 Component ldentification ... L 19
407 RIght SWING DOOT . . oo e e e e e e e e 19
402 Left SWING DOOT . . 21
413 Swing Door Header (914.4 mm (3 ft) and 1219.2 mm (4 1)) .. .. . .. 22
414 Swing Door Header (1828.8 mMm (6 1)) . ... i e e e e e 23
415 SWING DOOr Frame L. e e 24
408 VertiCal POSt .. ...t 25
47 Width ConneCtOr .. 26
4.8 Extendable Beam ... 27

40 FlOOr STaAN 28
4110 Shrink Roof
4111 Fixed Roof

4013 Blanking Panel ... .. 32
A4 Height Adapter . 33
4015 Height Adapter Brush . e 34
41016 Solid ROOf Filler .t et e e 35
A7 Lighting Kits e e e 36
41718 Cable Package . ... 37
4009 Alignment Tool ... il 38
4020 Vertical DUCt . il 39
4121 Fixed BEaM L. 40



Vertiv™ Aisle Containment System (VACS) User Manual

4024 Extend Pod Brush ... 42
4125 Right Opening Sliding Door (914.4 mm (B 1)) ... .. . 43
4126 Left Opening Sliding Door (9144 mm (B 1)) ... e e 45
4127 Sliding Door (1219.2 mim (& 1)) _ ... 47
4128 Sliding Door (1828.8 MM (6 1)) ..o e e e e e 49
4129 Right Opening Door Sliding Rail Cover Component (914.4 mm (3 ft)) . ... .. ... .. .. . ... .... 51
4130 Left Opening Door Sliding Rail Cover Component (914.4 mm (3ft)) ... ... ... .. . .. . ... 53
4131 Sliding Rail Cover Component (12192 mm (& ) . o e e e e e 55
4132 Sliding Rail Cover Component (18288 mm (6 ft)) ... ... ... . 57
4133 Sliding Door Header (914.4 mm (@ ft) and 12192 mm (& ft)) ... .. 59
4134 Sliding Door Header (1828.8 mm (B 1)) .. .. e e e e 60
4.2 Floor Preparation (Concrete or Raised Floor System) .. ... . e 60
4.3 Installation GUIde ... il 61
4371 VACS Deployment ProCESS . . . ... e e e e e e e e e e e e e 61
432 AlignNment To0l il 62
433 Vertical PoSt . il 64
434 Width CoNNECTOr . .. 68
435 Extendable BEam ... ... e 71
436 Cantilever AT L. 73
437 Lighting Sy S emM .. 75
4.3.8 SWING DOOr Framie . 82
439 Swing Door Header ... 85
4370 SWING DOOT . e e e e e e e 89
4 3T Sealing FOamM 100
4.312 Sliding Rail Cover Component (for 914.4 mm (3 ft) Right Opening Sliding Door) ... ... .. ... ......... 102
4.313 Semi-auto Sliding Door (for 914.4 mm (3 ft) Right Opening Sliding Door) . ... . ... ... ... .. ....... 109
4314 Sliding Door Header (for 914.4 mm (3 ft) Right Opening Door) . ... i e 122
4.315 Sliding Rail Cover Component (for 914.4 mm (3 ft) Left Opening Door) .. ... .. ... ... .. ... .. ...... 128
4316 Semi-auto Sliding Door (for 914.4 mm (3 ft) Left Opening DoOr) . . ... i e 136
4317 Sliding Door Header (for 914.4 mm (3 ft) Left Opening DOOr) .. ... et 149
4.318 Sliding Rail Cover Component (1219.2 mm (& ft) .. .. .. 156
4319 Semi-auto Sliding Door (1219.2 mm (& 1))« o e e e 165
4.320 Sliding Door Header (1219.2 mm (4 1)) .« .. . 179
4321 Sliding Rail Cover Component (18288 mm (6 ft)) ... ... .. .. 185
4322 Semi-auto Sliding Door (1828.8 mm (6 1)) . ... o e 193
4.323 Sliding Door Header (18288 mm (6 ft)) .. ... .. . 207
4324 Fixed ROOT . il 215
4325 Shrink ROOF ... et e e 216
4326 Blanking Panel ... 217
4327 Height Adapter & Height Adapter Brush ... e e e e 220

4328 Solid ROOT Filler . . e e e e e e 225



Vertiv™ Aisle Containment System (VACS) User Manual

4.329 Vertical DUCT ... 228

4330 POd EXTENSIONS . . ...ttt e e e e e e e e e e 239
5General Maintenance ... ... .. ... 243
BT Safety MEaSUIES 243
5.2 Dismantling the Sy stem . 243
B APPENAICES .. . L 244
Appendix A: Schematic of Lighting Sy Stem .. e e el 244
Appendix B: Workflow of Lighting Sy Stem . .o 245
Appendix C: Door Lock Installation GUIAE . ... e e e e 246
Appendix D: Vertical Post and Floor Stand Position .. ... 250

Appendix E: Door Closer Installation GUIe ... .. e e e e 252



Vertiv™ Aisle Containment System (VACS) User Manual

This page intentionally left blank



Vertiv™ Aisle Containment System (VACS) User Manual

1 Important Safety Instructions

SAVE THESE INSTRUCTIONS

This manual contains important instructions that may be closely during installation of this unit to maintain compliance with
agency listings. Read all safety and operating instructions. Adhere to all warnings on the unit and in this manual. Follow all
operating and user instructions.

WARNING! Risk of handling heavy unit. Can cause equipment damage, injury or death. Read all instruction
before beginning.

WARNING! Risk of top-heavy unit falling over. Improper handling can cause equipment damage, injury or
death. Only properly trained and qualified personnel wearing appropriate OSHA-approved personal
protection equipment (PPE) should attempt to move, lift, remove packaging from or prepare unit for
installation. Read all instructions before attempting to move, lift, remove packaging from or prepare the unit
for installation.

This product is designed for commercial/industrial use only. This product is not intended for use with life support or other
U.S. FDA designated “critical” devices. Maximum loads must not exceed those specified in this manual.

Install and operate in a clean environment, free from moisture, flammable liquids, gases and corrosive substances. Vertiv™
Aisle Containment System must be installed on a flat, level surface for proper assembly and operation.

Ensure that the rack has proper ventilation. Never block or insert objects into the ventilation holes or other openings.
Maintain minimum clearances as specified in this manual.

Provide the minimum space between the accessories/components and the housing. This spacing shall be maintained for
safe operation of the equipment when installed in accordance with

the National Electric Code, ANSI/NFPA 70. As appropriate, all wiring and equipment should be installed in accordance with
NFPA 70, “National Electrical Code,” and the applicable sections of ANSI C2, “National Electrical Safety Code."

We recommend that casters only be used to move empty racks.

TImportant Safety Instructions 1



Vertiv™ Aisle Containment System (VACS) User Manual

This page intentionally left blank

2 7Important Safety Instructions



Vertiv™ Aisle Containment System (VACS) User Manual

2 Product Overview

2.1 Product Features

Vertiv™ Aisle Containment System is a rack-independent data center aisle product manufactured by Vertiv™. It is deployed
in indoor environments such as edge locations and medium and large data centers, blocking the mixing of hot and cold air
and increasing the efficiency of data centers. The system is fully compatible with Vertiv™ cabinets and other 42-52U
cabinets that meet the requirement of the EIA-310-D standard. The system has the following characteristics:

e The length of the closed aisle can be adjusted between 3048 mm (10 ft) and 4876.8 mm (16 ft) and the aisle
length increment is 50.8 mm (2 in).

e The aisle length can span across multiple sections.

e Aisle widthis available in three sizes: 914.4 mm (3 ft), 1219.2 mm (4 ft), and 18288 mm (6 ft).

e Aisles can be configured in cabinets of different heights, widths, and depths.

e Flexible installation supports raised floor and concrete floor installation.

2 Product Overview 3



Vertiv™ Aisle Containment System (VACS) User Manual

2.2 Appearance and Components

The appearance and components of the Vertiv?™ Aisle Containment System is depicted in the figure below.

Figure 1.1 Appearance and Components of Vertiv™ Aisle Containment System

Item Description Item Description

1 Vertical duct (optional) 9 Right door

2 Fixed roof (optional) 10 Floor stand (optional)
3 Shrink roof (optional) 11 Width beam

4 Cantilever arm 12 Width panel

5] Door header 13 Lighting kits

6 Door frame 14 Height adapter

7 Vertical post 15 Extendable beam

8 Left door 16 Blanking panel

2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: This figure is used only as a reference of component identification, not as a reference for configuration.

2.3 Weight Bearing Capacity

e The weight-bearing capacity of the system is 907.2 kg (2000 Ib).

e The weight-bearing capacity on a single vertical post is 249.4 kg (550 Ib).

e The weight-bearing capacity of the unilateral extendable beam is 226.8 kg (500 Ib) (including cantilever arm).

e The weight-bearing capacity on a single cantilever arm is 17 kg (37.5 Ib).

2.4 SKU List

Table 11 SKU List

Item Model No. Description
VC-DR-0001 Right swing door
VC-DR-0002 Left swing door
Swing door VC-DR-0003 Swing door header, 914.4 mm (3 ft) and 1219.2 mm (4 ft)
VC-DR-0004 Swing door header, 1828.8 mm (6 ft)
VC-DR-0005 Swing door frame
VC-DR-0015 Sliding door (including left door and right door), 1828.8 mm (6 ft)
VC-DR-0016 Sliding door (including left door and right door), 1219.2 mm (4 ft)
VC-DR-0017 Right opening sliding door (reusing the 1828.8 mm (6 ft) right sliding door), 914.4 mm (3 ft)
VC-DR-0018 Left opening sliding door, 914.4 mm (3 ft)
VC-DR-0019 Sliding rail cover component, 1828.8 mm (6 ft)
Sliding door
VC-DR-0020 Sliding rail cover component, 1219.2 mm (4 ft)
VC-DR-0021 Left opening door sliding rail cover component, 914.4 mm (3 ft)
VC-DR-0022 Right opening door sliding rail cover component, 914.4 mm (3 ft)
VC-DR-0023 Sliding door header, 1828.8 mm (6 ft)
VC-DR-0024 Sliding door header, 914.4 mm (3 ft) and 1219.2 mm (4 ft)
Extendable beam VC-FM-0005 Extendable beam
Vertical post VC-FM-0001 Vertical post
VC-FM-0002 Width connector, 914.4 mm (3 ft)
Width connector VC-FM-0003 Width connector, 1219.2 mm (4 ft)
VC-FM-0004 Width connector, 1828.8 mm (6 ft)
VC-FM-0006 Floor stand, 305 mm (12 in.)
VC-FM-0007 Floor stand, 406 mm (16in.)
Floor stand VC-FM-0008 Floor stand, 4565 mm (17.9in.)
VC-FM-0009 Floor stand, 610 mm (24 in.)
VC-FM-0010 Floor stand, 914 mm (36 in.)

2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

Table 1.1 SKU List (continued)

Item Model No. Description
VC-RF-0001 Shrink roof, 304.8 mm (1 ft) x 914.4 (3 ft)
VC-RF-0002 Shrink roof, 304.8 mm (1 f)x 1219.2 mm (4 ft)
VC-RF-0003 Shrink roof, 304.8 mm (1 ft) x 1828.8 mm (6 ft)
Shrink roof
VC-RF-0004 Shrink roof, 609.6 mm (2 f) x 914.4 (3 ft)
VC-RF-0005 Shrink roof, 609.6 mm (2 ft) x 1219.2 mm (4 ft )
VC-RF-0006 Shrink roof, 609.6 mm (2 ft) x 1828.8 mm (6 ft)
VC-RF-0007 Fixed roof, 304.8 mm (1 ft) x 914.4 (3 ft)
VC-RF-0008 Fixed roof, 304.8 mm (1 ft) x 1219.2 mm (& ft)
VC-RF-0009 Fixed roof, 304.8 mm (1 ft) x 1828.8 mm (6 ft)
Fixed roof
VC-RF-0010 Fixed roof, 609.6 mm (2 ft) x 914.4 mm (3 ft)
VC-RF-0011 Fixed roof, 609.6 mm (2 ft) x 1219.2 mm (4 ft)
VC-RF-0012 Fixed roof, 609.6 mm (2 ft) x 1828.8 mm (6 ft)
VC-RF-0013 Vertical duct, 304.8 mm (1 f) x 304.8 mm (1 ft)
VC-RF-0014 Vertical duct, 304.8 mm (1 ft) x 609.6 mm (2 ft)
VC-RF-0015 Vertical duct, 304.8 mm (1 ft) x 914.4 mm (3 ft)
VC-RF-0016 Vertical duct, 304.8 mm (1 ft) x 1219.2 mm (4 ft)
VC-RF-0017 Vertical duct, 304.8 mm (1 ft) x 1524 mm (5 ft)
VC-RF-0018 Vertical duct, 609.6 mm 2 ft) x 304.8 mm (1 ft)
Vertical duct
VC-RF-0019 Vertical duct, 609.6 mm (2 ft) x 609.6 mm (2 ft)
VC-RF-0020 Vertical duct, 609.6 mm @2 ft) x 914.4 mm (3 ft)
VC-RF-0021 Vertical duct, 609.6 mm (2 ft) x 1219.2 mm (4 ft)
VC-RF-0022 Vertical duct, 609.6 mm (2 ft) x 1524 mm (5 ft)
VC-RF-0023 Vertical duct, 914.4 mm (3 ft) x 1524 mm (6 ft)
VC-RF-0024 Vertical duct, 1219.2 mm (4 ft) x 1524 mm (5 ft)
VC-RF-0025 Fixed beam, 914.4 mm (3 ft)
Fixed beam VC-RF-0026 Fixed beam, 1219.2 mm (4 ft)
VC-RF-0027 Fixed beam, 1828.8 mm (6 ft)
Vertical duct attachment VC-RF-0028 Vertical duct attachment
VC-RF-0029 Vertical duct sliding, 304.8 mm (1 ft)
VC-RF-0030 Vertical duct sliding, 609.6 mm (2 ft)
Vertical duct sliding
VC-RF-0031 Vertical duct sliding, 914.4 mm (3 ft
VC-RF-0032 Vertical duct sliding, 1219.2 mm (4 ft)
Cantilever arm VC-AC-0001 Cantilever arm

2 Product Overview



Table 1.1 SKU List (continued)

Vertiv™ Aisle Containment System (VACS) User Manual

Item Model No. Description
VC-AC-0002 Blanking panel, 300 mm (11.81in.)
Blanking panel VC-AC-0003 Blanking panel, 600 mm (23.62 in.)
VC-AC-0004 Blanking panel, 800 mm (31.49in.)
VC-AC-0005 Height adapter, 1 U x 300 mm (11.811in.)
VC-AC-0006 Height adapter, 2 U x 300 mm (11.81in.)
Height adapter VC-AC-0007 Height adapter, 1 U x 600 mm (23.62 in.)
VC-AC-0008 Height adapter, 2 U x 600 mm (23.62 in.)
VC-AC-0009 Height adapter, 1 U x 800 mm (31.49in.)
VC-AC-0011 Height adapter brush, 300 mm (11.811in.)
Height adapter brush VC-AC-0012 Height adapter brush, 600 mm (23.62 in.)
VC-AC-0013 Height adapter brush, 800 mm (31.49in.)
VC-AC-0014 Solid roof filler, 914.4 mm (3 ft)
Solid roof filler VC-AC-0015 Solid roof filler, 1219.2 mm (& ft)
VC-AC-0016 Solid roof filler, 1828.8 mm (6 ft)
VC-AC-0017 Lighting sub-assembly, 304.8 mm (1 ft)
Lighting sub-assembly
VC-AC-0018 Lighting sub-assembly, 609.6 mm (2 ft)
Cable packaging VC-AC-0019 Cable packaging
Alignment tool VC-AC-0020 Alignment tool
VC-AC-0021 Extend pod brush, 304.8 mm (1 ft)
Extend pod brush VC-AC-0022 Extend pod brush, 609.6 mm (2 ft)
VC-AC-0023 Extend pod brush, 1524 mm ( ft)

2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

2.5 Environmental Requirements

2.5.1 Operating Conditions

The installation site of the Vertiv™ Aisle Containment System should be such that the product is away from heat, easy-to-
produce sparks, direct sunlight, corrosive gases, and organic solvents.

Operating conditions are shown in Table 12 below .

Table 1.2 Operating Conditions

Item Description

Floor Level ground. Maximum deviation is 0.6 mm/m (0.072 in. per 10 ft)
Room Large data centers, mid-size data centers, and equipment & IT rooms
Ambient temperature Indoor: 0 °C to 40 °C (32 °F to 104 °F)

Ambient humidity 5% RH to 90 % RH, 30 °C (86 °F) (no condensation)

2.5.2 Storage Conditions

The product storage environment is shown in Table 13  below

Table 1.3 Storage Environment

Environment Clean and clear of dust and debris
Ambient temperature -33°C (-27.4°F)to + 70 °C (158 °F)
Ambient humidity 5% RH to 95 % RH (no condensation)

NOTE: The shrink roof storage temperature must be lower than 50°C (122°F).

8 2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

2.5.3 Clearance Requirements

Leave enough space for installation, maintenance, repair and cooling. The space required to open the door is shown in
Figure 12 below.

Figure 1.2 Vertiv™ Aisle Containment System Spacing (Swing Door)

I E I 684.2 mm
(26.93 inch)
: . | o
- _ | Bl e S
IE |
\ / 1
\ Max 100° /
\ /
N /
N 7/
2134.3 mm S~ | _ -7 1828.8 mm
(84 inch) L <. ©ft)
// \\
/ N\
/ \
/ \
! \
| =nl
Ig':’:“;' = e ————etmnsscoosooonmsooosooooon == pa |
Z - -
<_934.9 mm__|
(36.8 inchj
1071 mm 3048 mm (10 ft) - 4876.8 mm (16 ft) 1067.8 mm _,.
(42.2 inch) (42 inch)
L E 684.2 mm
I m (26.93 inch)
=N
............................ =] -1 o
-~ 7 |
- Max 100°
/ ax100° /  914.4 mm (3 ft) -
/ . L/ 12192mm (4 f)
/ 7
I 7
| = _ - g
= B e e e -
o 0
= = =
< 9349 mm_, | L @ l
(36.8 inch) = =
1071 mm _ \
s 3048 mm (10 ft) - 4876.8 mm (16 fty

2 Product Overview 9



Vertiv™ Aisle Containment System (VACS) User Manual

Figure 1.3 Vertiv™ Aisle Containment System Spacing (Sliding Door)

3048 mm (10 ) - 48768 mm (16 fO)

3696 mm
(1455 inch)

3048 mm (10 ft) - 4876.8 mm (16 fi}

2585 mm
inch)

165 mm
(65 inch)
Max. opening TI4C mm
(449 inch)
185 mm
(85inch)
Max opening 832mm
(328inch)
____________ F
165mm
(65inch)

2781 mm
(1095 inch)

3048 mm (10 ft) - 48768 mm (16 fO)

2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: For a ceiling return air scheme, ensure that the space between the passage and the ceiling is not blocked.

NOTE: Enough space should be left between the rear cabinet door and the wall to ensure easy access to equipment
shelves for the maintenance personnel.

2.5.4 Floor Loading

The floor loading should be greater than 1000 kg/m? (204 Ib/ft2). You can also consult the nearest Vertiv local office or
service center for detailed information.

2 Product Overview 1



Vertiv™ Aisle Containment System (VACS) User Manual

This page intentionally left blank

2 2 Product Overview



Vertiv™ Aisle Containment System (VACS) User Manual

3 Pre-Installation

A

A
A

3.1 Installation Tools

Figure 21 below shows the depiction of some installation tools and Table 21 on the next page describes the use of these
tools.

NOTE: All installation tools must be supplied by customers.

Figure 2.1 Installation Tools

3 Pre-Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Table 2.1 Installation Tools

Item Name Function

1 Razor knife Cut through packaging materials

2 Torx screwdriver Tighten or loosen Torx screws

3 Adjustable wrench Tighten or loosen different sizes of bolts and nuts
4 Socket wrench Insert into a socket to tighten or loosen bolts and nuts
5] Wrench Tighten or loosen bolts and nuts

6 Tape measure Measure sizes or distances

7 Chalk line Lay out straight lines between two points

8 Electrical drill/driver Make round holes or drive fasteners

9 Impact drill Drill into concrete floor or metal

10 Level Establish a horizontal plane

1 Scissors Cut sealing foam

12 Lifting equipment Lift heavy devices

13 Ascending ladder Install equipment at a certain height

14 Plumb bob Establish a vertical line

15 T-shaped ruler Make parallel lines and right angles

3.2 Equipment Handling, Unpacking, and Inspection

Rail or sea shipment is recommended for transporting the product. If road is the only option, choose less bumpy roads to

prevent equipment damage.

The size and weight of the package of each component is depicted in the table below.

Table 2.2 Size and Weight of Component Package

Size mm (in.) Weight kg (Ib)
Model No. Component

L
VC-DR-0001 Right swing door 2410 (94.9) 1030 (40.6) | 110 (4.3) 55 (121)
VC-DR-0002 Left swing door 2410 (949) | 1030(£0.6) | 110&.3) 55 (121)
VC-DR-0003 Swing door header, 914.4 mm (3 ft) and 1219.2 mm (4 ft) 1000 (39.4) | 758 (29.8) 89@3.5) 8.87 (17.74)
VC-DR-0004 Swing door header, 1828.8 mm (6 ft) 1915 (75.4) 758 (29.8) 89(3.5) 16.41(36.1)
VC-DR-0005 Swing door frame 2859(112.6) | 324(12.8) 179(7.0) 45.8(100.76)
VC-DR-0015 Sliding door (including left door and right door), 1828.8 mm (6 ft) 2410 (94.9) 1080 (42.5) | 245(9.6) 66 (145.5)
VC-DR-0016 Sliding door (including left door and right door), 1219.2 mm (4 ft) 2410 (94.9) 780 (30.7) 245(9.6) 53.2(117.3)
VC-DR-0017 S(')g:;;(;ﬁin:i ;'i(:;”g)door (reusing the 18288 mm (GfOrGNtsidng | 510 040y | M50 ws® [1356 | 373622
VC-DR-0018 Left opening sliding door, 914.4 mm (3 ft) 2410 (94.9) 1150 (45.3) 135 (6.3) 37.3(82.2)
VC-DR-0019 Sliding rail cover component, 1828.8 mm (6 ft) 2070 (81.5) | 345(13.6) 270(10.6) | 26(57.3)
VC-DR-0020 Sliding rail cover component, 1219.2 mm (& ft) 1400 (65.1) 345(13.6) 270 (10.6) | 185@0.8)

3 Pre-Installation



Table 2.2 Size and Weight of Component Package (continued)

Vertiv™ Aisle Containment System (VACS) User Manual

Size mm (in.) Weight kg (Ib)
Model No. Component

L
VC-DR-0021 Left opening door sliding rail cover component, 914.4 mm (3 ft) 1920 (75.6) 290 (11.4) 270 (10.6) | 18(39.7)
VC-DR-0022 Right opening door sliding rail cover component, 914.4 mm (3 ft) 1920 (75.6) 290 (11.4) 270 (10.6) | 18(39.7)
VC-DR-0023 Sliding door header, 1828.8 mm (6 ft) 2195 (86.4) 595 (23.4) 95 @7 21(46.3)
VC-DR-0024 Sliding door header, 914.4 mm (3 ft)and 1219.2 mm (4 ft) 1585 (62.4) 595 (23.4) 95 @.7) 14.7 (B2.4)
VC-FM-0005 Extendable beam 3292 (129.6) | 324(12.8) 179(7.0) 89.68 (197.3)
VC-FM-0001 Vertical post 2851(112.2) | 428(16.9) 164 (6.5) 37.04(81.48)
VC-FM-0002 Width connector, 914.4 mm (3 ft) 1087 (42.8) 652 (25.7) 160 6.3) 20 (44)
VC-FM-0003 Width connector, 1219.2 mm (& ft) 1392 (54.8) 652 (25.7) 160 (6.3) 28.3(62.26)
VC-FM-0004 Width connector, 1828.8 mm (6 ft) 2001(78.8) | 652(25.7) 170 6.7 37.5(82.5)
VC-FM-0006 Floor stand, 305 mm (12 in.) 482 (18.98) 362 (14.25) | 300 (11.81) | 235 (1.7
VC-FM-0007 Floor stand, 406 mm (16in.) 482 (18.98) 362 (14.25) | 300 (11.81) | 24.74 (54.42)
VC-FM-0008 Floor stand, 465 mm (17.91in.) 482 (18.98) 362 (14.25) | 300 (11.81) | 25.36(55.79)
VC-FM-0009 Floor stand, 610 mm (24 in.) 837 (32.95) 362 (14.25) | 195(7.68) | 27.56(60.63)
VC-FM-0010 Floor stand, 914 mm (36in.) 942 (37.09) | 362(14.25) [ 195(7.68) | 31.66(69.8)
VC-RF-0001 Shrink roof, 304.8 mm (1 ft) x 914.4 mm (3 ft) 1104 (43.46) | 361(14.21) 67 (2.64) 3.9(858)
VC-RF-0002 Shrink roof, 304.8 mm (1 ft) x 1219.2 mm (4 ft) 1408 (65.43) | 361 (14.21) 67 (2.64) 4.209.24)
VC-RF-0003 Shrink roof, 304.8 mm (1 ft) x 1828.8 mm (6 ft) 2107 (82.95) | 361(14.21) 67 (2.64) 6(13.2)
VC-RF-0004 Shrink roof, 609.6 mm (2 ft) x 914.4 mm (3 ft) 1104 (43.46) | 666 (26.22) | 67 (2.64) 7.4(16.28)
VC-RF-0005 Shrink roof, 609.6 mm (2 ft) x 1219.2 mm (4 ft) 1408 (65.43) | 666 (26.22) | 67 (2.64) 8(17.6)
VC-RF-0006 Shrink roof, 609.6 mm (2 ft) x 1828.8 mm (6 ft) 2107 (82.95) | 666(26.22) | 67 (2.64) 11.6(25.52)
VC-RF-0007 Fixed roof, 304.8 mm (1 ft) x 914.4 mm (3 ft) 1104 (43.46) | 361(14.21) 67 (2.64) 2.9(6.38)
VC-RF-0008 Fixed roof, 304.8 mm (1 ft) x 1219.2 mm (4 ft) 1408 (65.43) | 361 (14.21) 67 (2.64) 3.1(6.82)
VC-RF-0009 Fixed roof, 304.8 mm (1 ft) x 1828.8 mm (6 ft) 2107 (82.95) | 361(14.21) 67 (2.64) 4(8.8)
VC-RF-0010 Fixed roof, 609.6 mm (2 ft) x 914.4 mm (3 ft) 1104 (43.46) | 666 (26.22) | 67 (2.64) 5.4(11.88)
VC-RF-0011 Fixed roof, 609.6 mm (2 f) x 1219.2 mm (4 ft) 1408 (65.43) | 666 (26.22) | 67 (2.64) 5.8(12.76)
VC-RF-0012 Fixed roof, 609.6 mm (2 ft) x 1828.8 mm (6 ft) 2107 (82.95) | 666(26.22) | 67 (2.64) 8.1(017.82)
VC-RF-0013 Vertical duct, 304.8 mm (1 ft) x 304.8 mm (1 ft) 467 (18.39) 347(13.66) | 125(4.92) | 4(8.8)
VC-RF-0014 Vertical duct, 304.8 mm (1 ft) x 609.6 mm (2 ft) 772@E0.39) | 147 (5.79) 1254.92) | 501D
VC-RF-0015 Vertical duct, 304.8 mm (1 ft) x 914.4 mm (3 ft) 1072 (42.2) 347(1366) |[125(.92) | 75065
VC-RF-0016 Vertical duct, 304.8 mm (1 ft) x 1219.2 mm (4 ft) 1377 (5421) | 347(13.66) | 125(4.92) [ 85087
VC-RF-0017 Vertical duct, 304.8 mm (1 ft) x 1524 mm (5 ft) 1703 (67.05) | 354 (13.94) | 122 (4.8) 1022
VC-RF-0018 Vertical duct, 609.6 mm (2 ft) x 304.8 mm (1 ft) 772@30.39) | 147 (5.79) 125 (4.92) | 5.6(12.32)
VC-RF-0019 Vertical duct, 609.6 mm (2 ft) x 609.6 mm (2 ft) 767 (30.2) 632 (24.88) [ 125@4.92) [ 7101562

3 Pre-Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Table 2.2 Size and Weight of Component Package (continued)

Model No.

Component

Size mm (in.)

L

Weight kg (Ib)

VC-RF-0020 Vertical duct, 609.6 mm (2 ft) x 914.4 mm (3 ft) 1088 (42.83) | 664(26.14) [ 122 (4.8) 85018.7)
VC-RF-0021 Vertical duct, 609.6 mm (2 ft) x 1219.2 mm (4 ft) 1393 (54.84) | 664 (26.14) 122 (4.8) 1022
VC-RF-0022 Vertical duct, 609.6 mm (2 ft) x 1524 mm (5 ft) 1703 (67.05) | 664(26.14) [ 122 (4.8) 12.5(27.5)
VC-RF-0023 Vertical duct, 914.4 mm (3 ft) x 1524 mm (5 ft) 1703 (67.05) | 969 (38.15) 122 (4.8) 15@3)
VC-RF-0024 Vertical duct, 1219.2 mm (4 ft) x 1524 mm (5 ft) 1703 (67.05) | 1274 (50.16) | 122 (4.8) 16(35.2)
VC-RF-0025 Fixed beam, 914.4 mm (3 ft) 1128 (44.4) 198 (7.8) 742.9) 3.6(7.9
VC-RF-0026 Fixed beam, 1219.2 mm (4 ft) 1429(56.3) | 198 (7.8) 7429 4600.1)
VC-RF-0027 Fixed beam, 1828.8 mm (6 ft) 2038 (80.2) 198 (7.8) 742.9) 6.8 (15.0)
VC-RF-0028 Vertical duct attachment 367 (14.4) 317.(12.5) 130 6.1D 3884
VC-RF-0029 Vertical duct sliding, 304.8 mm (1 ft) 467 (18.4) 347 (3.7 125 (4.9) 2249
VC-RF-0030 Vertical duct sliding, 609.6 mm (2 ft) 772 (30.4) 347 (13.7) 125 (4.9) 4(8.8)
VC-RF-0031 Vertical duct sliding, 914.4 mm 3 ft) 1072 (42.2) 34737 125 (4.9) 6.1(13.4)
VC-RF-0032 Vertical duct sliding, 1219.2 mm (4 ft) 1377 (54.2) 347 (13.7) 125 (4.9) 12 (26.5)
VC-AC-0001 Cantilever arm 687 (27.0) 512 (20.2) 2108.3) 22.5(49.6)
VC-AC-0002 Blanking panel, 300 mm (11.81in.) 1995 (78.54) | 363 (14.3) 89@3.5) 750.3)
VC-AC-0003 Blanking panel, 600 mm (23.62 in.) 1995 (78.54) | 663 (26.1) 89@3.5) 12.2(0.5)
VC-AC-0004 Blanking panel, 800 mm (31.49in.) 1995 (78.54) | 863(3398) | 89(3.5) 18.6 (40.92)
VC-AC-0005 Height adapter, TUx 300 mm (11.81in.) 372 (14.65) 147 (5.79) 130 6.12) 2.2 (4.84)
VC-AC-0006 Height adapter, 2U x 300 mm (11.81in.) 372 (14.65) 147 (5.79) 130 (6.12) | 3.4(7.48)
VC-AC-0007 Height adapter, TUx 600 mm (23.62 in.) 872 (34.33) 147 (5.79) 130 6.12) 420924
VC-AC-0008 Height adapter, 2U x 600 mm (23.62 in.) 872(34.33) | 147 (6.79) 130(6.12) | 3(6.6)
VC-AC-0009 Height adapter, TUx 800 mm (31.49in.) 872 (34.33) 147 (5.79) 130 6.12) 55021
VC-AC-0010 Height adapter, 2U x 800 mm (31.49in.) 872(34.33) | 147 (6.79) 130 (6.12) | 6.8(14.96)
VC-AC-0011 Height adapter brush, 300 mm (11.81in.) 372 (14.65) 147 (5.79) 130 6.12) 10.2 22.44)
VC-AC-0012 Height adapter brush, 600 mm (23.62 in.) 872 (34.33) 147 (5.79) 130 (6.12) | 12.2(26.84)
VC-AC-0013 Height adapter brush, 800 mm (31.49in.) 872 (34.33) 147 (5.79) 130 6.12) 13.7 (30.14)
VC-AC-0014 Solid roof filler, 914.4 mm (3 ft) 1012 (39.84) | 207 (8.15) 165 (6.5) 12.72 (27.98)
VC-AC-0015 Solid roof filler, 1219.2 mm (& ft) 1217 (47.91) 207 (815 165 (6.5 16.53 (36.36)
VC-AC-0016 Solid roof filler, 1828.8 mm (6 ft) 1927 (75.87) | 207 (8.15) 165 (6.5) 24.9(54.78)
VC-AC-0017 Lighting sub-assembly, 304.8 mm (1 ft) 437 (7.2) 367 (14.45) 156 (6.14) 8.3(18.26)
VC-AC-0018 Lighting sub-assembly, 609.6 mm (2 ft) 672 (26.46) | 652(25.67) | 100(3.94) | 13.22(29.08)
VC-AC-0019 Cable packaging 300 (11.81) 200 (7.87) 100@3.94) | 25065
VC-AC-0020 Alignment tool 2000 (78.74) | 200 (7.87) | 200 (7.87) | 5.53(12.16)

3 Pre-Installation



Table 2.2 Size and Weight of Component Package (continued)

Model No.

Component

Size mm (in.)

L

Vertiv™ Aisle Containment System (VACS) User Manual

Weight kg (Ib)

VC-AC-0021 Height extend pod brush, 304.8 mm (1 ft) 317 (12.48) 202 (7.95) 120 (4.72) | 2.2(4.84)
VC-AC-0022 Height extend pod brush, 609.6 mm (2 ft) 602 (23.7) 202 (7.95) 120 (4.72) | 3.4(7.48)
VC-AC-0023 Height extend pod brush, 1524 mm ( ft) 1517 (69.72) | 202 (7.95) 120 4.72) | 8(17.6)

3 Pre-Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Transport the packaged unit with a fork lift or pallet jack. Place the unit as close as possible to the final installation location
on a firm, level surface.

veve

Description
1 Align fork with the front or rear of the unit.
2 Insert tines completely under the base of the unit
3 Remove lag bolts and brackets
4 Lift the unit and remove the skid

NOTE: Make sure that the lift/jack has adjustable fork arms, and the arms are spread to the widest allowable distance
to still fit under this pallet.

NOTE: When moving the packaged unit, align the fork arms with the unit center of gravity.
NOTE: The unit should remain upright. Do not place the unit outdoors.
Packaging Material

All the materials used in the packaging enclosures are recyclable. They can be retained for future use or they can be
disposed of appropriately.

The following are the steps for unpacking the carton:

1. Disassemble the product package on an open, solid, and horizontal surface.

2. Open carton straps and packaging materials surrounding the product with a utility knife carefully.

After unpacking, confirm the identity and the quantity of parts or components by referring to the part checklist (see
Component Identification on the facing page ). If any part is missing or damaged, inform the carrier immediately. For
concealed damage, inform the local dealer or local Vertiv office immediately.

18 3 Pre-Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

Before installation, ensure that the installation tools and accessories are in place.

4.1 Component Identification

4.1.1 Right Swing Door

Description

VC-DR-0001 Right swing door, 914.4 mm (3 ft) and 1219.2 mm (4 ft)

Item Description Quantity
1 Right door 1
2 Door closer* 1
3 Hinge 1* 2

4 Installation 19



Vertiv™ Aisle Containment System (VACS) User Manual

20

Item Description Quantity
4 Hinge 2* 1
5 Door lock* 1
Torx pan head screw, M5 x 12 12
’ Torx pan head screw, M4 x 12 12
Torx countersunk screw, M6 x 20 3
! Torx countersunk screw, M6 x 12 24
8 Hole plug 8
9 Brush 1
10 Sealing foam* -

*indicates that the partis assembled in factory

NOTE: Please refer to Appendix lll Door Lock Installation Guide for the assembling of the door lock.

4 Installation



4.1.2 Left Swing Door

Description

VC-DR-0002 Left swing door, 1828.8 mm (6 ft)

Item Description Quantity
1 Left door 1
2 Door closer* 1
3 Hinge 1* 2
4 Hinge 2* 1
5 Door handle 2
Torx pan head screw, M5 x 12 12
° Torx pan head screw, M4 x 12 12

4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

21



Vertiv™ Aisle Containment System (VACS) User Manual

Item Description Quantity
Torx countersunk screw, M6 x 20 3

! Torx countersunk screw, M6 x 12 24

8 Hole plug 3

9 Brush 1

10 Sealing foam* -

*indicates that the part is assembled in factory

4.1.3 Swing Door Header (914.4 mm (3 ft) and 1219.2 mm (4 ft))

Description
VC-DR-0003 Door header, 914.4 mm (3 ft) and 1219.2 mm (4 ft)
2
© (©)
Item Description Quantity
1 Door header, 914.4 mm (3 ft)and 1219.2 mm (4 ft) 1
2 Torx pan head screw, M6 x 20 2

2 4 Installation



4 Installation

4.1.4 Swing Door Header (1828.8 mm (6 ft))

Description

VC-DR-0004 Door header, 1828.8 mm (6 ft)
y
[°)
Item Description Quantity
1 Door header, 1828.8 mm (6 ft) 1
2 Torx pan head screw, M6 x 20 2

Vertiv™ Aisle Containment System (VACS) User Manual

23



Vertiv™ Aisle Containment System (VACS) User Manual

24

4.1.5 Swing Door Frame

Description

VC-DR-0005 Door frame

Item Description Quantity
1 Left door frame 1

2 Right door frame 1

3 Torx pan head screw, M8 x 20 8

4 Torx countersunk screw, M4 x 12 20

4 Installation



4.1.6 Vertical Post

Vertiv™ Aisle Containment System (VACS) User Manual

Description
VC-FM-0001 Vertical post
[
o o-e0 ?% ;
o—-: 00 §
HE
° @’ .
o
0 o
o
Ob s et
Item Description Quantity
1 Right vertical post 1
2 Left vertical post 1
3 End sealing bracket 1
4 2U end sealing bracket 5
5 1U end sealing bracket 1
6 Hole plug 20

4 Installation

25



Vertiv™ Aisle Containment System (VACS) User Manua

Item Description Quantity
7 Cable ring 8

8 Torx pan head screw, M8 x 20 14

9 Expansion bolt, M12 8

10 Sealing foam -

4.1.7 Width Connector

Model Description

VC-FM-0002 Width connector, 914.4 mm (3 ft)
VC-FM-0003 Width connector, 1219.2 mm (& ft)
VC-FM-0004 Width connector, 1828.8 mm (6 ft)

Item Description Quantity
1 Width beam 2

2 Width panel 2

8 Brush 4

4 Motion sensor bracket 1

5 Cable ring 2

6 Torx pan head screw, M8 x 20 4

7 Torx countersunk screw, M6 x 12 14

26

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.8 Extendable Beam

Description

VC-FM-0005 Extendable beam

Item Description Quantity
1 Extendable beam 2
2 Torx pan head screw, M8 x 20 12
3 Bolt & nut, M12 x 120 9

4 Installation 27



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.9 Floor Stand

Model Description

VC-FM-0006 Floor stand, 305 mm (12 in.)

VC-FM-0007 Floor stand, 406 mm (16in.)

VC-FM-0008 Floor stand, 406 mm (16in.)

VC-FM-0009 Floor stand, 406 mm (16in.)

VC-FM-0010 Floor stand, 914 mm (36in.)

Item Description Quantity
1 Top part 2
2 Middle tube 2
3 Bottom part 2
4 Hexagon head bolt, M8 x 30 6
5 Nut, M12 8
6 Leveling plate, 5.0 mm 18
7 Leveling plate, 2.0 mm 4
8 Leveling plate, 1.0 mm 2

28

4 Installation



4.1.10 Shrink Roof




Vertiv™ Aisle Containment System (VACS) User Manual

4.1.1 Fixed Roof

Model Description

VC-RF-0007 Fixed roof, 304.8 mm x 914.4 mm (1 ft x 3 ft)
VC-RF-0008 Fixed roof, 304.8 mm x 1219.2 mm (1 ft x 4 ft)
VC-RF-0009 Fixed roof, 304.8 mm x 1828.8 mm (1 ft x 6 ft)
VC-RF-0010 Fixed roof, 609.6 mm x 914.4 mm 2 ft x 3 ft)
VC-RF-0011 Fixed roof, 609.6 mm x 1219.2 mm (2 ft x 4 ft)
VC-RF-0012 Fixed roof, 609.6 mm x 1828.8 mm (2 ft x 6 ft)

Item Description Quantity
1 Fixed roof 1
2 Bracket 2
3 Torx self-tapping screw, M6 x 16 4
4 Sealing foam (assembled in factory) -

30 4 Installation



4 Installation

4112 Cantilever Arm

VC-AC-0001

Description

Cantilever arm

Torx pan head screw, M6 x 16

Item Description Quantity
1 Arm 8
2 Leveling pad 8
Torx self-tapping screw, M6 x 16
3 40

Vertiv™ Aisle Containment System (VACS) User Manual

31



Vertiv™ Aisle Containment System (VACS) User Manual

32

4.1.13 Blanking Panel

Model Description

VC-AC-0002 Blanking panel, 300 mm (11.81in.)
VC-AC-0003 Blanking panel, 600 mm (23.62 in.)
VC-AC-0004 Blanking panel, 800 mm (31.49in.)

e

=
] 3

Item Description Quantity

1 Blanking panel 1
2 Bay kits 3
3 Torx self-tapping screw, M6 x 16 2
4 Torx countersunk screw, M6 x 12 12
5 Spring floating nut 12
6 Sealing foam -

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4114 Height Adapter

Model Description

VC-AC-0005 Height adapter, TU x 300 mm (11.81in.)

VC-AC-0006 Height adapter, 2U x 300 mm (11.81in.)
VC-AC-0007 Height adapter, TU x 600 mm (23.62 in.)
VC-AC-0008 Height adapter, 2U x 600 mm (23.62 in.)
VC-AC-0009 Height adapter, TU x 800 mm (31.491in.)
VC-AC-0010 Height adapter, 2U x 800 mm (31.49in.)

Item Description Quantity

1 2U height adapter 10

2 1U height adapter 10

4 Installation 33



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.15 Height Adapter Brush

Model Description

VC-AC-0011 Height adapter brush, 300 mm (11.811in.)
VC-AC-0012 height adapter brush, 600 mm (23.62 in.)
VC-AC-0013 height adapter brush, 800 mm (31.49in.)

Item Description Quantity
1 Height adapter brush 10
2 Height adapter bracket 10
3 Height adapter rail 10

3% 4 Installation



4 Installation

4116 Solid Roof Filler

Model Description

VC-AC-0014 Solid roof filler, 914.4 mm (3 ft)
VC-AC-0015 Solid roof filler, 1219.2 mm (& ft)
VC-AC-0016 Solid roof filler, 1828.8 mm (6 ft)

Item Description Quantity
1 Solid roof filler 6
2 Self-tapping screw 12

Vertiv™ Aisle Containment System (VACS) User Manual

35



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.17 Lighting Kits

Model Description

VC-AC-0017

Lighting sub-assembly, 304.8 mm (1 ft)

VC-AC-0018

Lighting sub-assembly, 609.6 mm (2 ft)

1/

Item Description Quantity
1 Leveling pad* 16

2 Lighting bracket 8

3 LED mounting Kits 16

4 Lighting extender 6

5) LED lighting 8

6 Connecting cable 8

7 Torx self-tapping screw, M6 x 16 16

8 Torx countersunk screw, M5 x 12 16

*indicates that the part is assembled in factory

36

4 Installation



4 Installation

4.1.18 Cable Package

Model Description

VC-AC-0019 Cable packaging

Vertiv™ Aisle Containment System (VACS) User Manual

37



Vertiv™ Aisle Containment System (VACS) User Manual

38

Item Description Quantity
1 Cable, WO8 1
2 Cable, W11 1
8 Cable, WO3, WO7, and WO5 1
4 Cable, WO6, W02, W04, and W10 1
5 Cable, WO1 1
6 Switch 1
7 Motion sensor 2
8 Torx pan head screw, M4 x 10 4

4119 Alignment Tool

Description

VC-AC-0020 Alignment tool

Item Description Quantity

1 Cross member 4
2 Torx pan head screw, M6 x 16 6
3 Foot 2

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.20 Vertical Duct

Model Description

VC-RF-0013 Vertical duct, 304.8 mm x 304.8 mm (1 ft x 1 ft)
VC-RF-0014 Vertical duct, 304.8 mm x 609.6 mm (1 ft x 2 ft)
VC-RF-0015 Vertical duct, 304.8 mm x 914.4 mm (1 ft x 3 ft)
VC-RF-0016 Vertical duct, 304.8 mm x 1219.2 mm (1 ft x 4 ft)
VC-RF-0017 Vertical duct, 304.8 mm x 1524 mm (1 ft x 5 ft)
VC-RF-0018 Vertical duct, 609.6 mm x 304.8 mm (2 ft x 1ft)
VC-RF-0019 Vertical duct, 609.6 mm x 609.6 mm (2 ft x 2 ft)
VC-RF-0020 Vertical duct, 609.6 mm x 914.4 mm (2 ft x 3 ft)
VC-RF-0021 Vertical duct, 609.6 mm x 1219.2 mm 2 ft x 4 ft)
VC-RF-0022 Vertical duct, 609.6 mm x 1524 mm (2 ft x 5 ft)
VC-RF-0023 Vertical duct, 914.4 mm x 1524 mm (3 ft x 5 ft)
VC-RF-0024 Vertical duct, 1219.2 mm x 1524 mm (4 ft x 5 ft)

Item Description Quantity
1 Vertical duct panel 2
2 Pan head screw =
3 Baying kit 1 -
4 Baying kit 2 -
5 Baying kit 3 -
6 Floating nut -

4 Installation 39



Vertiv™ Aisle Containment System (VACS) User Manual

40

4.1.21 Fixed Beam

Model Description

VC-RF-0025 Fixed beam, 914.4 mm (3 ft)
VC-RF-0026 Fixed beam, 1219.2 mm (4 ft)
VC-RF-0027 Fixed beam, 1828.8 mm (6 ft)

Description

Fixed beam

4.1.22 Vertical Duct Attachment

VC-RF-0028

Description

Vertical duct attachment

Item Description Quantity
1 Vertical duct attachment 16
2 Torx self-tapping screw, M6 x 16 32

4 Installation



4 Installation

4.1.23 Vertical Duct Sliding

Vertiv™ Aisle Containment System (VACS) User Manual

Model Description

VC-RF-0029 Vertical duct sliding, 304.8 mm (1 ft)

VC-RF-0030 Vertical duct sliding, 609.6 mm (2 ft)
VC-RF-0031 Vertical duct sliding, 914.4 mm (3 ft)

VC-RF-0032 Vertical duct sliding, 1219.2 mm (4 ft)

Item Description Quantity
1 Vertical duct sliding 2
2 Floating nut -
3 Torx pan head screw, M6 x 14 -

41



Vertiv™ Aisle Containment System (VACS) User Manual

42

4.1.24 Extend Pod Brush

Model Description

VC-AC-0021 Extend pod brush, 304.8 mm (1 ft)
VC-AC-0022 Extend pod brush, 609.6 mm (2 ft)
VC-AC-0023 Extend pod brush, 1524 mm (5 ft)

Description

1 Extend pod brush

Quantity

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.1.25 Right Opening Sliding Door (914.4 mm (3 ft))

Description

VC-DR-0017 Right opening sliding door (reusing the 1828.8 mm (6 ft) right sliding door), 914.4 mm (3 ft)

L
I+
1 %
it Tl
Item Description Quantity
1 Right sliding door adapter, 914.4 mm (3 ft) 1
2 Sealing strip* 2
3 Right sliding door, 914.4 mm (3 ft) 1
4 Door handle 1
5 Front hanger roller B* 1
6 Brake* 1

43



Vertiv™ Aisle Containment System (VACS) User Manual

Item Description Quantity
7 Rear hanger roller* 1
8 End wheel 1
9 Mechanical lock 1
10 Limit block* 4
il Bottom brush 1
12 Side brush* 1
13 Torx pan head screw, M8 x 20 8
14 Torx pan head screw, M5 x 14 5
15 Torx pan head screw, M4 x 10 7
16 Torx pan head screw, M3 x 10 8
*indicates that the partis assembled in factory

m 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.26 Left Opening Sliding Door (914.4 mm (3 ft))

Description

VC-DR-0018 Left opening sliding door, 914.4 mm (3 ft)

o ©

R X

© Q09 o

PRSAN

A
@@w@m *

Item Description Quantity
1 Side brush* 1
2 Left sliding door, 914.4 mm (3 ft) 1
8 Bottom brush 1
4 Sealing strip* 2
5 Left sliding door adapter, 914.4 mm (3 ft) 1
6 Door handle 1
7 Front hanger roller A* 1

4 Installation 45



Vertiv™ Aisle Containment System (VACS) User Manual

46

Item Description Quantity
8 Brake* 1
9 Rear hanger roller* 1
10 End wheel 1
il Mechanical lock 1
12 Limit block* 4
13 Torx pan head screw, M8 x 20 8
14 Torx pan head screw, M5 x 14 5
15 Torx pan head screw, M4 x 10 7
16 Torx pan head screw, M3 x 10 8

*indicates that the partis assembled in factory

4 Installation



4 Installation

4.1.27 Sliding Door (1219.2 mm (4 ft))

Description

Vertiv™ Aisle Containment System (VACS) User Manual

VC-DR-0016 Sliding door (including left door and right door), 1219.2 mm (4 ft)
o
N
- : &
M . ﬂ'ﬂ'
/
b
(4

Item Description Quantity
1 Side brush* 2
2 Sealing strip* 2
3 Left sliding door, 1219.2 mm (4 ft) 1
4 Bottom brush 2
5 Right sliding door, 1219.2 mm (4 ft) 1
6 Door handle 2
7 Front hanger roller A* 1
8 Brake* 1

47



Vertiv™ Aisle Containment System (VACS) User Manual

48

Item Description Quantity
9 Rear hanger roller* 2
10 End wheel 1
il Mechanical lock 1
12 Limit block* 4
13 Front hanger roller B* 1
14 Threading support* 2
15 Torx pan head screw, M8 x 20 8
16 Torx pan head screw, M5 x 14 8
17 Torx pan head screw, M4 x 10 14
18 Torx pan head screw, M3 x 10 8

*indicates that the partis assembled in factory

4 Installation



4 Installation

4.1.28 Sliding Door (1828.8 mm (6 ft))

Description

Vertiv™ Aisle Containment System (VACS) User Manual

VC-DR-0015 Sliding door (including left door and right door), 1828.8 mm (6 ft)
e
= ¥
f@ @ﬁ@ﬂ@' E-rr' W

Item Description Quantity
1 Side brush* 2

2 Sealing strip* 2

3 Left sliding door, 1828.8 mm (6 ft) 1

4 Bottom brush 2

5 Right sliding door, 1828.8 mm (6 ft) 1

6 Door handle 2

7 Front hanger roller A* 1

8 Brake* 1

9 Rear hanger roller* 2

10 End wheel 1

49



Vertiv™ Aisle Containment System (VACS) User Manual

50

Item Description Quantity
il Mechanical lock 1

12 Limit block* 4

13 Front hanger roller B* 1

14 Threading support* 2

15 Torx pan head screw, M8 x 20 8

16 Torx pan head screw, M5 x 14 8

17 Torx pan head screw, M4 x 10 14

18 Torx pan head screw, M3 x 10 8

*indicates that the partis assembled in factory

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.29 Right Opening Door Sliding Rail Cover Component (914.4 mm (3 ft))

Description

VC-DR-0022 Right opening door sliding rail cover component, 914.4 mm (3 ft)

006060 ©

O & © @

Item Description Quantity
1 Left sliding rail cover, 914.4 mm (3 ft) 1
2 Right sliding rail cover, 914.4 mm (3 ft) 1
3 Right sliding rail, 914.4 mm (3 ft) 1
4 Left extension beam, 914.4 mm (3 ft) 1
5 Right extension beam, 914.4 mm (3 ft) 1
6 Rail of plastic tooth belt 1
7 Sliding door width beam, 914.4 mm (3 ft) 1
8 Door guide 1
9 Full open device 1
10 Stopper 1
il Cover bracket A 1
12 Cover bracket B 2

4 Installation 51



Vertiv™ Aisle Containment System (VACS) User Manual

52

Item Description Quantity
13 Drive device 1

14 Extension beam bracket 2

15 Door guide bracket 1

16 Torx pan head screw, M8 x 20 10

17 Torx pan head screw, M5 x 14 30

18 Torx self tapping screw, M6 x 16 2

19 Plastic expansion tube 2

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.30 Left Opening Door Sliding Rail Cover Component (914.4 mm (3 ft))

Description

VC-DR-0021 Left opening door sliding rail cover component, 914.4 mm (3 ft)

0006608 &

Q ® © @

Item Description Quantity
1 Left sliding rail cover, 914.4 mm (3 ft) 1
2 Right sliding rail cover, 914.4 mm (3 ft) 1
8 Left sliding rail, 914.4 mm (3 ft) 1
4 Left extension beam, 914.4 mm (3 ft) 1
5 Right extension beam, 914.4 mm (3 ft) 1
6 Rail of plastic tooth belt 1
7 Sliding door width beam, 914.4 mm (3 ft) 1
8 Door guide 1
9 Full open device 1
10 Stopper 1
il Cover bracket A 1
12 Cover bracket B 2

4 Installation 53



Vertiv™ Aisle Containment System (VACS) User Manual

Item Description Quantity
13 Drive device 1

14 Extension beam bracket 2

15 Door guide bracket 1

16 Torx pan head screw, M8 x 20 10

17 Torx pan head screw, M5 x 14 30

18 Torx self tapping screw, M6 x 16 2

19 Plastic expansion tube 2

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.31 Sliding Rail Cover Component (1219.2 mm (4 ft))

Description

VC-DR-0020 Sliding rail cover component, 1219.2 mm ( ft)

0060 B6OO O

®© 000 O

Item Description Quantity
1 Left sliding rail cover, 1219.2 mm (4 ft) 1
2 Right sliding rail cover, 1219.2 mm (4 ft) 1
8 Right sliding rail, 1219.2 mm (4 ft) 1
4 Left sliding rail, 1219.2 mm (4 ft) 1
5 Sliding door width beam, 1219.2 mm (4 ft) 1
6 Left extension beam, 1219.2 mm (4 ft) 1
7 Right extension beam, 1219.2 mm (4 ft) 1
8 Stopper 1
9 Rail of plastic tooth belt 1
10 Left steering wheel 1
1 Right steering wheel 1

4 Installation 55



Vertiv™ Aisle Containment System (VACS) User Manual

56

Item Description Quantity
12 Full open device 1
13 Door guide 2
14 Cover bracket A 1
15 Cover bracket B 2
16 Drive device 1
17 Extension beam bracket 2
18 Door guide bracket 2
19 Torx pan head screw, M8 x 20 10
20 Torx pan head screw,: M5 x 14 34
21 Torx self tapping screw, M6 x 16 4
22 Plastic expansion tube 4

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.32 Sliding Rail Cover Component (1828.8 mm (6 ft))

Description

VC-DR-0019 Sliding rail cover component, 1828.8 mm (6 ft)

000BBO 6

®© 000 O

Item Description Quantity
1 Left sliding rail cover, 1828.8 mm (6 ft) 1
2 Right sliding rail cover, 1828.8 mm (6 ft) 1
3 Right sliding rail, 1828.8 mm (6 ft) 1
4 Left sliding rail, 1828.8 mm (6 ft) 1
5 Sliding door width beam, 1828.8 mm (6 ft) 1
6 Left extension beam, 1828.8 mm (6 ft) 1
7 Right extension beam, 1828.8 mm (6 ft) 1
8 Stopper 1
9 Rail of plastic tooth belt 1
10 Left steering wheel 1
1 Right steering wheel 1

4 Installation 57



Vertiv™ Aisle Containment System (VACS) User Manual

58

Item Description Quantity
12 Full open device 1
13 Door guide 2
14 Cover bracket A 1
15 Cover bracket B 2
16 Drive device 1
17 Extension beam bracket 2
18 Door guide bracket 2
19 Torx pan head screw, M8 x 20 10
20 Torx pan head screw, M5 x 14 38
21 Torx self tapping screw, M6 x 16 4
22 Plastic expansion tube 4

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.1.33 Sliding Door Header (914.4 mm (3 ft) and 1219.2 mm (4 ft))

Description

VC-DR-0024 Sliding door header, 914.4 mm (3 ft) and 1219.2 mm (4 ft)

© O

Item Description Quantity
1 Sliding door header cover, 914.4 mm 3 ft)and 1219.2 mm (4 ft) 1
2 Sliding door header panel, 914.4 mm (3 ft)and 1219.2 mm (4 ft) 1
3 Torx pan head screw, M5 x 14 4
4 Torx pan head screw, M4 x 10 3
5 Torx pan head screw, M6 x 16 2

4 Installation 59



Vertiv™ Aisle Containment System (VACS) User Manual

60

4.1.34 Sliding Door Header (1828.8 mm (6 ft))

Description

VC-DR-0023 Sliding door header, 1828.8 mm (6 ft)

()

Item Description Quantity
1 Sliding door header cover, 1828.8 mm (6 ft) 1

2 Sliding door header panel, 1828.8 mm (6 ft) 1

3 Sliding door header adapter cover, 1828.8 mm (6 ft) 2

4 Sliding door header adapter panel, 1828.8 mm (6 ft) 2

5 Torx pan head screw, M5 x 14 4

6 Torx pan head screw, M4 x 10 1

7 Torx pan head screw, M6 x 16 4

4.2 Floor Preparation (Concrete or Raised Floor System)

The product mounting floor (concrete floor or raised floor) needs to be leveled and the allowable deviation is < 0.6 mm/m

(0.07 in. per 10 ft).

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3 Installation Guide

4.3.1 VACS Deployment Process

The VACS aisle width W (vertical post inner side spacing) can be configured as 914.4 mm (3 ft.), 1219.2 mm (4 ft.), and
18288 mm (6 ft.). The aisle length L (vertical post inner side spacing) can be configured as 3048 mm (10 ft) to 4876.8 mm
(16 ft) and can be adjusted in Extendable Beam on page 71 to meet different lengths. Aisle height H (surface spacing
between ground and extendable beam) can be configured as 42U to 52U.

Figure 2.2 Aisle Length, Width, and Height Diagram

S TIITTITITER,
S TR

I

| ———— W — [ L >

Figure 2.3 Aisle Length and Width Adjustment Range Diagram

3048 mm (10 ft) - 4876.8 mm (16 ft)
step = 50.8 mm

3048 mm (10 ft) - 4876.8 mm(16 ft)
step = 50.8 mm

2 0 O
L 914.4 mm (3 ft)
1219.2 mm (4 ft)
1828.8 mm (6 ft)

NOTE: The circle in the diagram indicates the position of posts.

4 Installation 61



Vertiv™ Aisle Containment System (VACS) User Manual

62

4.3.2 Alignment Tool

Positioning the VACS aisle vertical posts is important for deploying the aisle. VACS offers an alignment tool to position the
left and right vertical posts, for the aisle with a width of 914.4 mm (3 ft.), 1219.2 mm (4 ft.), or 1828.8 mm (6 ft.). The cross
beam of the alignment tool is marked with three widths (3 ft, 4 ft, and 6 ft). Attach one base to one end of the cross beam,

and attach another base to the cross beam at the marked position.

The four holes on the outer rectangular of the base determine the position of the floor stand, and the holes on the inner

rectangular determine the position of the vertical post.

~

e A e
@ _ QO O _ ﬁ) O o> © o
| © |
110 mm 120 mm
A\ - C T T ) - 'E) O A 1]
N / N Y
\\\ \\
160 mm - >

le— 40 mm

1 Use these holes to confirm the position of the floor stand

Item Description

2 Use these holes to confirm the position of the vertical post

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: If you have not purchased the alignment tool, please refer to Appendix V Door Closer Installation Guide to
determine the location of the vertical post.

63



Vertiv™ Aisle Containment System (VACS) User Manual

64

4.3.3 Vertical Post

Vertical posts can be mounted directly onto a concrete floor, or onto a raised floor system, supported by optional floor
stands.

NOTE: The deviation of floor flatness should be < 0.6 mm per m (0.07 in. per 10 ft).

Raised Floor System Deployment

1. Ifthe vertical post is deployed on a raised floor system, the floor stands need to be installed under the raised
floor. Each floor stand comes with thick gaskets (1.0 mm, 2.0 mm, or 5.0 mm) to adjust the height of the floor
stand and the vertical post. Before assembling the floor stand, calculate the height and use gaskets to raise the
floor stand to the desired height.

2. Use the alignment tool to position the floor stands in the width direction.

NOTE: Use straightening tools such as chalk lines and laser instruments to confirm the length direction of the floor
stands.

—_—
[ ] [ ] L) L] L[] L]
e e e e e e
e e e e e e
(] [ ) L] [ ] [ ) [ ]

3. Once you have determined the position of the floor stand, trim the raised floor accordingly.

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: When installing the vertical post, verify that its vertically meets the requirements (<0.6 mm) and then lock the

bolts.

4. Use the M12 hexagonal head bolts to secure the vertical post on the floor stand. Each post requires four M12

bolts.

1

DAL

/ i

<) AT Y

/"/ 6+
/
/’l @4“4@
=0
| o-*
\\
AN gu‘@
L (3}

65



Vertiv™ Aisle Containment System (VACS) User Manual

Concrete Floor Deployment

1. Use the alignment tool to determine the position of the vertical posts at the width direction of the aisle, and
mark the positions on the floor.

o o o
L] L ] L] L ] L ] L] L]
L] o o o o L] L]

2. Drill the M14 holes according to the markings. Install the vertical post to the required position and secure it
with the M12 expansion bolts.

A4

ceITITITINNGNG

[

/
\

NOTE: When installing the vertical post, make sure that the u-bit markings face outside the aisle. Make sure that the
two vertical posts facing diagonally are the same.

NOTE: Each vertical post contains a grounding (M6) location and can be used as the main grounding point of the
system. Use 6 mm? grounding cable.

66

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

// \\
l/ @ \|
L @

67



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.4 Width Connector

1. Two width connectors are installed at the front and back end of the aisle. Each width connector consists of two
width beams and two width panels. Raise the width beams to the mounting height using lifting equipment and
secure the beams using M6 countersunk screws and M6 pan head screws.

NOTE: Each end of the width beam is fixed by three screws (two M6 countersunk screws and one M6 pan head
screw).

'3\ :
! 1 Ly [
— ] 60| ™\
: i Y PN
@ / _ \
° o /, ~—— e e ‘\
! — O / H
| _ |
! of « \ Oz 6 H
i — y
i, ot —~— % \ /D
Q;; \/ ’ /
B N .~

S—

68 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

2. Install the width panel that faces the outside of the aisle. The width panel that faces inside will be installed after
cables are laid out. Insert the width panel into the slots on the width beam and secure the panel using M6
countersunk screws.

NOTE: Sliding door does not need width panel to be installed.

=

T

s
o

s
8
[©,. ]

-
lod
!
o]
- o
-
-
o)
- Ql «
-
o]
o
[
]
o D 0'
o
!
e, ol .

69



Vertiv™ Aisle Containment System (VACS) User Manual

3. Install a brush strip on each side of the width panel to seal the gaps, using M6 countersunk screws. Similarly,
install the width panel and brush strips on to the opposite end of aisle.

NOTE: Sliding door does not need width panel to be installed.

=Y

111111111%

- ®

11119111113

>
u.‘
A
S
.

70 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.5 Extendable Beam

1. Determine the length of the aisle before installing the extendable beam. Remove the fixing screws from the
extendable beam and extend the beam to the required length.

4876.8 mm (16 ft)

3048 mm (10 ft)

} © © © ©° © °

} G 6o%500000B00000B00000H006000 ‘beeeae'l g g ° g S o

NOTE: The extendable beams installed at both sides of the aisle must be extended in the same direction.

2. Raise the extendable beam to the mounting height with the lifting equipment and secure it with M8 pan head
screws. Use M6 self-tapping screws to secure the joints on the beam.

NOTE: The installation height of the extendable beam depends on the height of the highest cabinet in the aisle.

co TITTIITIILLC |
S TIITIITITEL.

4 Installation 7



Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: When installing the extendable beam, make sure that it is level. Adjust the vertical posts and extendable beams
when necessary.

7 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.6 Cantilever Arm

1. Determine the positions of the cantilever arms, and install the M12 x 120 bolts in the holes on the extendable
beam.

g
°

0|
Caad
0|
o)
0|
0|
o)
0|
0|
oot .
Pod
o)
o)
- o
o)
L o)
9.\ o)
o)
? 0
°
0'
¢ R ol .
V.. <Q$ 0-'
S
kb
0 °
b of,”
S
Aed

2. Place the cantilever arms in the required positions and secure them using M6 self-tapping screws.

3. Lock the M12 x 120 long bolts with M12 nuts.

4 Installation 73



Vertiv™ Aisle Containment System (VACS) User Manual

T4

4. The cantilever arms on both sides of the aisle are symmetrical. Install the cantilever arms on each side of the
aisle with 609.6 mm (2 ft) spacing between each two arms.

~—1ft

2 ft

2 ft*N

2ft

1| N
| M}

ILIL
1L

1.1
[

[.IE
1LII

[.IE
10T

1.1
|

1.1
|

11,
1L

==

=13}

FE=T—3}

NOTE: If the cantilever arm is installed on the inner sleeve of the extendable beam, install a leveling pad behind the

cantilever arm to ensure alignment.

NOTE: If the cantilever arm is not required, you need to install the long bolts in the reserved positions of the cantilever

arms.

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.7 Lighting System

Installing Lighting Kits

1. Determine the position where the lighting kits will be supplied power and lay out the main power supply cable
through the vertical post. The main power supply cable is normally placed near the power distribution cabinet.

NOTE: Each vertical post has two rubber rings to protect the cables.

NOTE: Connect the cables strictly in accordance with the Schematic of Lighting System to avoid the risk of electric
shock.

4 Installation 75



Vertiv™ Aisle Containment System (VACS) User Manual

2. Use M6 self-tapping screws to attach the lighting bracket on the extendable beam.

NOTE: The lighting kit is available in 304.8 mm (1ft.) and 609.6 mm (2 ft.) lengths. Each kit consists of LED lights,
lighting bracket, installation accessories, and connection cables.

76 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

3. Snap the magnet that comes with the LED light onto the lighting bracket and fix the LED light onto the
bracket.

NOTE: The main power supply cable for the first light is in the cable package. The connection cables between LED
lights are attached to the lights.

NOTE: The leveling pad of the lighting bracket helps align the lights.

77



Vertiv™ Aisle Containment System (VACS) User Manual

78

Installing Lighting Extender

If the aisle length is 3048 mm (10 ft), 3657.6 mm (12 ft), 4267.2 mm (14 ft), or 18288 (16 ft), use 609.6 mm (2 ft) lighting and
lighting bracket. If the aisle length is 3352.8 mm (11 ft), 3962.4 mm (13 ft), or 4572 mm (15 ft), use 609.6 mm (2 ft) + 304.8
mm (1ft) lighting and lighting bracket. If the aisle length requirement still cannot be met, supplement with the lighting
extender (2 in). The lighting extender is similar to the lighting bracket with a leveling pad onits back to ensure alignment.
Place the lighting extender, align with the lighting kits, and attach it using M6 self-tapping screws.

F : 0
n o .
H
Ahd
2.
ks Al
EREN

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Installing Switch

1. Remove the metal cover for the switch on the vertical post, route the switch cable from inside the vertical post
until the cable connector is exposed, and pull the cable into the switch bottom shell.

TR

2. Secure the terminals of the cable on the switch using screws.
Secure the switch bottom shell on the vertical post and mount the switch panel.

4. After installing the switch, attach the “Lighting Switch“ cable (provided in the attachment package) on the
marked area above the switch.

NOTE: Follow the Schematic of Lighting System on page 244 to connect the cable to avoid the risk of electric shock.

4 Installation 79



Vertiv™ Aisle Containment System (VACS) User Manual

80

H Lighting Switcu

Installing Motion Sensor

1.

Install two motion sensors, one sensor at each end of the aisle. Install the motion sensor bracket on the width

beam using M6 countersunk screws.

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

2. Route the motion sensor cable through the width beam and connect the cable.

3. Secure the motion sensor on the bracket using M4 pan head screws.
NOTE: The width beam has a cable ring to prevent sharp metal edges from cutting the cable.

4. Set the detective range, delay time, and sensitivity for sunlight.

[
(1
(2]
O
e | e | 100% @ | ® | Disable
Ol e 75% O | ® | 50lux
® | O 50% ® | O | 10lux
olo| 10% o|O0 2lux

Item Description

1 Up

2 Down

3 Set detective range

4 Set delay time

5 Set sensitivity for sunlight

4 Installation 81



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.8 Swing Door Frame

Partially install the M8 pan head screws on the door frame, adjust the height of the screws to leave a clearance

of 10 mm (0.4 ft) between the screw and the door frame mounting surface.

1.

NOTE: The door frame provides two arrays of mounting holes. The inner side array is for 914.4 mm (3 ft) and 1828.8

mm (6 ft), and the outer side is for 1219.2 mm (4 ft).

||||||||||||||||||||||||||||||||||||||||||| a
- 2 - -
_ e ettt ettt e et e et e et e e, e e e, e e e e e - — - 4
o oo -----gToo-oo---goo-------g-------------4
e e e e e = = —————
\|
o=
=
© i S Sttt Sttt S,
e e e e e e e e e e e e e e e e e e e e e e e = = = = = = ——— 4
=
<
=
™
-~ 4
(=} - - S |
. \
\\\|1||I:l/
\\ s
. /,

- » » =
=
©

- > £ o
=
<

° @

- » = »
=
(32]

@ » > »

4 Installation

82



Vertiv™ Aisle Containment System (VACS) User Manual

\Z ).

D
B
€

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

2.

Hang the door frame on the vertical post onto the screws.

3. Tighten the screws through the round holes reserved on the other side of the vertical post.

e IITITT11Y

4. Plug the plastic snap (provided in the accessory bag) into the vertical post.

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.9 Swing Door Header

1. Hang the door header on the width beam.

=
-
-
\ ]
-
-
<= =
-
S % g <
e
I3 -
\ : ~\\‘%
el
I
\ -
] D H .
o
Il
I
dakeh | -
Ygg
—1
L

4 Installation 85



Vertiv™ Aisle Containment System (VACS) User Manual

2. Secure the door header to the width beam using M6 countersunk screws.

86 4 Installation



4 Installation

3.

Install the width panel that faces inside the aisle.

Vertiv™ Aisle Containment System (VACS) User Manual

i

113111111°%

]
q
/

87



Vertiv™ Aisle Containment System (VACS) User Manual

4. Install the brush included with the width panel.

11111111375

Of
. .O'
I
I
Of «
dotgp|J “lo

a8 4 Installation



4 Installation

4.3.10 Swing Door

Vertiv™ Aisle Containment System (VACS) User Manual

The following figure shows the left door and the right door viewed from outside of the aisle.

&

1

Left door

Item Description

2

Right door

Single Swing Door: Right Door

Each door has been assembled with three hinges. Fixing the middle hinge to the door frame is different from fixing the

upper and lower hinges.

1.

The hinge in the middle consists of two separate leaves. Remove one leaf from the middle hinge and install it
on the door frame using M6 countersunk screws.

89



Vertiv™ Aisle Containment System (VACS) User Manual

\
[EEs
S

1114

2. Install the brush strip under the door panel and secure it using M6 pan head screws from the inside of the door
panel. Plug the plastic snap into the fixing hole.

90

4 Installation



4 Installation

3.

Vertiv™ Aisle Containment System (VACS) User Manual

Lift the door panel and hang it on the door frame through the middle split hinge. Secure the upper and lower
hinges to the door frame using M6 countersunk screws.

ey
/2]

=

Y ——f—

91



Vertiv™ Aisle Containment System (VACS) User Manual

4. Secure the door closer chute on the door header using M4 countersunk screws. Secure the connecting rod on
the chute.

92 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

5. Install the frame of the door closer on the top side of the door.

NOTE: The installation of the left and right door closers are different. For details, see Door Lock Installation Guide on
page 246 .

NOTE: The closing speed and the closing force of the door closer can be adjusted by the knob. For details, see Door
Lock Installation Guide on page 246 .

93



Vertiv™ Aisle Containment System (VACS) User Manual

6. Install the door lock body (removable handle and lock core) into the mounting hole on the door panel. Lock the
door lock body using M5 countersunk screws (for details, see Door Lock Installation Guide on page 246 ).

94 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Fix the lock core cover on the door with its own long screw nut (a screw and a nut) and then snap the outer trim
cap into the lock core cover. Insert the lock core into the door lock body, insert the lock core from the long
screw that comes with the door lock from one side of the tab, and lock the lock core with a threaded hole that
matches it (the lock core is in the correct position, and the long screw can be locked into the lock core).

4 Installation

[@ J——] =

95



Vertiv™ Aisle Containment System (VACS) User Manual

8. Similar to the lock core installation, secure the handle’s retaining cap using M4 countersunk screws and nuts on
the door plate. Insert the handle shaft into the door lock body, snap the handle into the handle holder cover, and
lock the small screw to secure the handle (for details, see Door Lock Installation Guide on page 246 ).

&
j

[6 otV =
[

/

/

@5

96 4 Installation



4 Installation

9.

Vertiv™ Aisle Containment System (VACS) User Manual

Install the swing door sealing bracket on the left door frame using M4 pan head screws.

97



Vertiv™ Aisle Containment System (VACS) User Manual

Installing Dual Swing Door - Right Door

Toinstall door lock and brush strip on the right door of the dual swing door, see single door installation. The right door of the
dual swing door requires two magnets.

98 4 Installation



4 Installation

Installing Dual Swing Door - Left Door

Install hinges, handles (left door without door lock), door closer, brushes, and rubber plugs on the door panel.

Vertiv™ Aisle Containment System (VACS) User Manual

(%

99



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.11 Sealing Foam

1. Attach the sealing foam onto the door header surface (A), for 914.4 mm (3 ft) or 1219.2 mm (4 ft), or 18288 mm

(6 ft) door.
R=m = =8 r = =a|

2. Attach the sealing foam onto the door frame surface (B). If there are two doors, attach the sealing foam for both
door frames. If there is a single door, attach the sealing foam onto the right door frame. When attaching the
sealing foam, do not cover the hinges.

3. Attach the sealing foam onto the surface (C) of four vertical posts.

100 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

u—

gl -

|

101

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.12 Sliding Rail Cover Component (for 914.4 mm (3 ft) Right Opening Sliding
Door)

1. Fix the cover bracket to the width beam using M5 pan head screws. Fix the width beam to the vertical post
using M8 pan head screws.

102 4 Installation



4 Installation

2.

Vertiv™ Aisle Containment System (VACS) User Manual

Fix the extendable beam bracket and the cover bracket to the extendable beam using M5 pan head screws.
Fix the extendable beam to the vertical post using M8 pan head screws.

103



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

104



Vertiv™ Aisle Containment System (VACS) User Manual

Repeat step 2 to install the extendable beam on the other side.

3.

4.

AN/

105

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Fix the sliding rail to the width beam and the extendable beam using M5 pan head screws.

4.

A " AAMNNY

v,

@ © © © 06 © 0 O
.

© © © © © © © O G

Vars

4 Installation

106



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

5. Fix the rail of the plastic tooth belt to the width beam and the extendable beam using M5 pan head screws.

6. Fix the drive device to the extendable beam on the left side using M5 pan head screws.

Q O @ © © © @ 9
0

107



Vertiv™ Aisle Containment System (VACS) User Manual

7. Fix the stopper to the sliding rail.

N

108 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.13 Semi-auto Sliding Door (for 914.4 mm (3 ft) Right Opening Sliding Door)

1. Fix the left sliding door adapter to the left vertical post using M8 pan head screws. Install the screws from the
back side of the vertical post.

4 Installation 109



Vertiv™ Aisle Containment System (VACS) User Manual

110

2.

Install the door guide bracket near the right vertical post.

a.

Use a tape measure to determine position A (20 mm vertically from the lower left corner of the right

vertical post stand, viewing from the top). Mark position A on the floor.

Use a tape measure to determine position B (80 mm horizontally from position A). Mark position B on the

floor.

Drill a @6 hole in position A and B and install a plastic expansion tube in each hole.

T B
q““"'ﬁ-____ ]
o o
o [}
—
1 a |! 5 1
= S— LT

}
20
oA ¢B

-—80 mm——

(1

1

Right vertical post

2

Rght vertical post stand, viewing from the top

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Fix the door guide bracket to the floor using M5 self-taping screws. Fix the door guide to the door guide

bracket using M5 pan head screws.

3.

m

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the end wheel to the rear hanger roller using M5 screws. Install the brush under the sliding door using M4
pan head screws. The screws are installed in the inner side of the door. After that, cover each hole above the
screw using a plastic cap.

12 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

13



Vertiv™ Aisle Containment System (VACS) User Manual

5. Remove the limit screws (1) from the hanger rollers, push the door panel into the sliding rail, and then fix the
limit screws.

o

©

|y

© |

° )
© |

O

©p ﬂﬂ

M4

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

\
\Y
\/ \ \\

3

///

//
A

%\/ W
) 4 / .

15

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Adjust the gap to make the door panel vertical:
a. Loosen the fixing screws (2) on the hanger rollers. Rotate the adjustable screw (1) clockwise to raise the
door panel and counter-clockwisee to lower the door panel.
b. After the adjustment, tighten the fixing screws (2).

c. Check that the door can slide smoothy.

NOTE: If the door cannot slide moothly, check if the hanger rollers are within the rail and the door guide is in the

groove.

— | ——

116

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

6. Pull the cable from the drive device and fix the cable to the front hanger roller.

~

To adjust the resistance of the sliding door, loosen the Phillips head screw (2), use a slotted screwdriver to
adjust the turntable (1, and then tighten the Phillips head screw (2).

® e 0
® O ()
(——= ) )

17



Vertiv™ Aisle Containment System (VACS) User Manual

Use a rear brake to adjust the sliding speed: turn the valve clockwise to slower the speed and counter-
clockwise to faster the speed.

18 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

7. Loosen the screw (A) on the full open device, slide the full open device into the sliding rail till its edge (B)
aligns with the mark (C) on the sliding rail, and tighten the screw.

4 Installation 19



Vertiv™ Aisle Containment System (VACS) User Manual

8.

Insert the lock cylinder into the lock body. Install the lock cover and the door handle.

120

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

121

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.14 Sliding Door Header (for 914.4 mm (3 ft) Right Opening Door)

1. Insert two M6 pan head screws into the frame of the width connector, leaving 5 mm between the head of the
screw and the surface of the frame. Hang the door header bracket on the screws and then tighten the screws.

Fix the bottom of the door header bracket to the width beam using four M5 pan head screws.

= ——

122

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

2. Hang the front panel onto the slot of the door header bracket and then fix the bottom of the panel to the
bracket using three M4 pan head screws.

®© © © © © © © © ©

123



System (VACS) User Manual

Containment

Aisle

Vertiv™




Vertiv™ Aisle Containment System (VACS) User Manual

Fix the right cover panel to the cover bracket using M5 pan head screws. Fix the left cover panel to the cover

bracket using M5 pan head screws.

3.

125

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4. Install the width panel on the inner side of the containment: inserting the bottom fringes of the width panel into
the slot and fix the upper fringes to the frame using M6 countersunk screws.

126 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Install the brush on the width panel.

5.

W

AT &

4 &N.m/,y\ ;

b &

e N =\
77X Y
, Y/
W a

hru o
«\0000/00000

v/

127

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.15 Sliding Rail Cover Component (for 914.4 mm (3 ft) Left Opening Door)

1. Fix the cover bracket to the width beam using M5 pan head screws. Fix the width beam to the vertical post
using M8 pan head screws.

!
B COXe

L P °
é o

I3

d
© 0 0 © © © o o o

d 4

4
4 d
Yo © © o o © © © © © o o

P P P F P P
d & 4

4

P P
o & o

128 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

2. Fix the extendable beam bracket and the cover bracket to the extendable beam using M5 pan head screws.

Fix the extendable beam to the vertical post using M8 pan head screws.

4 Installation

129



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

130



Vertiv™ Aisle Containment System (VACS) User Manual

Repeat step 2 to install the extendable beam on the other side.

3.

A NNWNYYY

o

131

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the sliding rail to the width beam and the extendable beam using M5 pan head screws.

X/

130 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

5. Fix the rail of the plastic tooth belt to the width beam and the extendable beam on the right side using M5 pan

head screws.

Q

s I J

[ 4

I 4

I d

A 2 SIS N N N 4
RS & 4 d 4

133



Vertiv™ Aisle Containment System (VACS) User Manual

6. Fix the drive device to the extendable beam on the right side using M5 pan head screws.

\

© © © © © © © ©
© © © © © © © ©

134 4 Installation



4 Installation

7.

Fix the stopper to the sliding rail.

Vertiv™ Aisle Containment System (VACS) User Manual

135



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.16 Semi-auto Sliding Door (for 914.4 mm (3 ft) Left Opening Door)

1. Fix the right sliding door adapter to the right vertical post using M8 pan head screws. Install the screws from
the back side of the vertical post.

’ 7/
/ v/ Ve
AA =
=&
7 7 7 7 SAXN \\
/ / / /
/ / / /
/ / / / )
/ / / / D Wi
/ / / / \
/ / / /
/ / / /
/ / / /
/ / / /

136

4 Installation



2.

Vertiv™ Aisle Containment System (VACS) User Manual

Install the door guide bracket near the left vertical post.

a.

Use a tape measure to determine position A (20 mm vertically from the lower right corner of the left
vertical post stand, viewing from the top). Mark position A on the floor.

Use a tape measure to determine position B (80 mm horizontally from position A). Mark position B on the
floor.

Drill a @6 hole in position A and B and install a plastic expansion tube in each hole.

(1)
(2]
— 20 m
“B YA
—80 mm——-

Item Description

1

Left vertical post

2

Left vertical post stand, viewing from the top

4 Installation

137



Vertiv™ Aisle Containment System (VACS) User Manual

Fix the door guide bracket to the floor using M5 self-taping screws. Fix the door guide to the door guide

bracket using M5 pan head screws.

3.

4 Installation

138



Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the end wheel to the rear hanger roller using M5 screws. Install the brush under the sliding door using M4
pan head screws. The screws are installed in the inner side of the door. After that, cover each hole above the
screw using a plastic cap.

4 Installation 139



Vertiv™ Aisle Containment System (VACS) User Manual

140 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

5. Remove the limit screws (1) from the hanger rollers, push the door panel into the sliding rail, and then fix the
limit screws.

-)%

o
©p
©p

©D

@)

4 Installation

141



Vertiv™ Aisle Containment System (VACS) User Manual

142

@"‘% ‘

&'
-5 %

Adjust the gap to make the door panel vertical:

a.

Loosen the fixing screws (2) on the hanger rollers. Rotate the adjustable screw (1) clockwise to raise the

door panel and counter-clockwise to lower the door panel.
After the adjustment, tighten the fixing screws (2).
Check that the door can slide smoothy.

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

NOTE: If the door cannot slide moothly, check if the hanger rollers are within the rail and the door guide is in the
groove.

143



Vertiv™ Aisle Containment System (VACS) User Manual

1

6. Pull the cable from the drive device and fix the cable to the front hanger roller.

S

7\)
/@
{v/
/

\w
{

Q

)
0/~§
(®) \N
©)
JAN
=~

d

i

Je

2

To adjust the resistance of the sliding door, loosen the Phillips head screw (2), use a slotted screwdriver to
adjust the turntable (1), and then tighten the Phillips head screw (2).

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

Use a rear brake to adjust the sliding speed: turn the valve clockwise to slower the speed and counter-
clockwise to faster the speed.

145



Vertiv™ Aisle Containment System (VACS) User Manual

7. Loosen the screw (A) on the full open device, slide the full open device into the sliding rail till its edge (B)
aligns with the mark (C) on the sliding rail, and tighten the screw.

146 4 Installation



4 Installation

8.

Vertiv™ Aisle Containment System (VACS) User Manual

Insert the lock cylinder into the lock body. Install the lock cover and the door handle.

147



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

148



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.17 Sliding Door Header (for 914.4 mm (3 ft) Left Opening Door)

1. Insert M6 pan head screws into the frame of the width connector, leaving 5 mm between the head of the screw
and the surface of the frame. Hang the door header bracket on the screws and then tighten the screws. Fix the
bottom of the door header bracket to the width beam using M5 pan head screws.

149



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

150



Vertiv™ Aisle Containment System (VACS) User Manual

2. Hang the front panel onto the slot of the door header bracket and then fix the bottom of the panel to the
bracket using three M4 pan head screws.

4 Installation 151



Vertiv™ Aisle Containment System (VACS) User Manual

3. Fix the right cover panel to the cover bracket using M5 pan head screws. Fix the left cover panel to the cover
bracket using M5 pan head screws.

152 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

163

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4. Install the width panel on the inner side of the containment: inserting the bottom fringes of the width panel into
the slot and fix the upper fringes to the frame using M6 countersunk screws.

154 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Install the brush on the width panel.

5.

.' © 0 0 000 0 0 0 o
4&/ 7

,Z
\

h—
\ 7N
. B\ "

\ .. .\.xc A,
//. /r - X\ 7 \

A

&7 777777 TEREE H%/.
NN

QM,/ \

155

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.18 Sliding Rail Cover Component (1219.2 mm (4 ft)

1. Fix the cover bracket to the width beam using M5 pan head screws. Fix the width beam to the vertical post
using M8 pan head screws.

156 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

157

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

2. Fix the extendable beam bracket to the extendable beam using M5 pan head screws.

§

i

|

i

|

i

|

i

|

i

|

i

]

i
[==4

158 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

3. Fix the cover bracket to the extendable beam using M5 pan head screws.

4. Fix the left steering wheel to the extendable beam using M5 pan head screws.

4 Installation 159



Vertiv™ Aisle Containment System (VACS) User Manual

5. Fix the extendable beam to the vertical post using M8 pan head screws.

— 5,

D

@)

: \b c{}. q\. c\. c\. q\. c\. Q\. q\.

N

D & ¢

160 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

6. Repeat step 2 to step 5 to install the extendable beam on the other side.

7. Fix two sliding rails to the width beam and extendable beam using M5 pan head screws.

NOTE: The sliding rail with tooth belt (amplified in the figure below) is installed on the right side.

4 Installation 161



Vertiv™ Aisle Containment System (VACS) User Manual

8. Fix the rail of the plastic tooth belt to the width beam and the extendable beam on the right side using M5 pan
head screws.

162 4 Installation



4 Installation

9.

Fix the drive device to the width beam using M5 pan head screws.

Vertiv™ Aisle Containment System (VACS) User Manual

yy A

=7/

0 = — P
I) 2= 00
= s 00
e P
0 oo 0?9
0 = 0?°
5= 0?
00
00
. s 0°
o
.
.
)
0
) Qi
I
- W
& Y
Wy
- Y,
2,
-~ Wi
A
W
& Wy,
0 %

163



Vertiv™ Aisle Containment System (VACS) User Manual

164

10. Fix the stopper to the sliding rail.

A4

o
° o

o

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.19 Semi-auto Sliding Door (1219.2 mm (4 ft))

1. Install the door guide bracket near the left vertical post.

a.

C.

Use a tape measure to determine position A (20 mm vertically from the lower right corner of the left
vertical post stand, viewing from the top). Mark position A on the floor.

Use a tape measure to determine position B (80 mm horizontally from position A). Mark position B on the
floor.

Drill a @6 hole in position A and B and install a plastic expansion tube in each hole.

2. Install the door guide bracket near the right vertical post.

a.

Use a tape measure to determine position C (20 mm vertically from the lower left corner of the right
vertical post stand, viewing from the top). Mark position C on the floor.

Use a tape measure to determine position D (80 mm horizontally from position C). Mark position D on
the floor.

Drill a @6 hole in position C and D and install a plastic expansion tube in each hole.

20 mm 20 mm

-
ve)
P
>
P
(@)
<
O

-—80 mm—-! -—280 mmJ

1

Left vertical post

2 Left vertical post stand, viewing from the top
3 Right vertical post
4 Right vertical post stand, viewing from the top

165



Vertiv™ Aisle Containment System (VACS) User Manual

Fix two door guide brackets to the floor using M5 self-taping screws. Fix the door guides to the door guide

brackets using M5 pan head screws.

3.

4 Installation

166



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the end wheel to the rear hanger roller of the right door panel using M5 screws. Install the brush under the
sliding door using M4 pan head screws. The screws are installed in the inner side of the door. After that, cover
each hole above the screw using a plastic cap.

167



Vertiv™ Aisle Containment System (VACS) User Manual

168 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

5. Remove the limit screws (1) from the hanger rollers, push the two door panels into the sliding rail, and then fix
the limit screws.

-)%

o
©p
©p

©D

@)

4 Installation

169



Vertiv™ Aisle Containment System (VACS) User Manual

\ X

L}

Adjust the gap between the door panels as follows:
a. Loosen the fixing screws (2) on the hanger rollers. Rotate the adjustable screw (1) clockwise to raise the
door panel and counter-clockwise to lower the door panel.
b. After the adjustment, tighten the fixing screws (2).
c. Check that the door can slide smoothy.

NOTE: If the door cannot slide moothly, check if the hanger rollers are within the rail and the door guide is in the
groove.

170 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

— |

4 Installation 7



Vertiv™ Aisle Containment System (VACS) User Manual

172

6. Pull the cable from the drive device and fix the cable to the front hanger roller.

To adjust the resistance of the sliding door, loosen the Phillips head screw (2), use a slotted screwdriver to
adjust the turntable (1), and then tighten the Phillips head screw (2).

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

Use a rear brake to adjust the sliding speed: turn the valve clockwise to slower the speed and counter-
clockwise to faster the speed.

173



Vertiv™ Aisle Containment System (VACS) User Manual

Route the steel wire around the left steering wheel and connect one end of the wire to the threading support of

the left door panel and the other end to the threading support of the right door panel.

7.

4 Installation

174



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

8. Route another steel wire around the right steering wheel and connect one end of the wire to the threading
support of the left door panel and the other end to the threading support of the right door panel. Place a washer
and a nut onto each threading support and fasten the nut.

After the steel wire is connected, loosen the pulley nuts (1 on the left and right steering wheels, rotate the
adjustable nuts (2) to take the slack out of the wire wrapped around the steering wheels, and then tighten the
pulley nuts (D.

175



Vertiv™ Aisle Containment System (VACS) User Manual

9. Loosen the screw (A) on the full open device, slide the full open device into the sliding rail till its edge (B)
aligns with the mark (C) on the sliding rail, and tighten the screw.

176 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

10. Insert the lock cylinder into the lock body of the right door panel and then install the lock cover. After that,

\

install door handles for the left door panel and right door panel.

e

\,
\

1=

177



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

178



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.20 Sliding Door Header (1219.2 mm (4 ft))

1. Insert M6 pan head screws into the frame of the width connector, leaving 5 mm between the head of the screw
and the surface of the frame. Hang the door header bracket on the screws and then tighten the screws. Fix the
bottom of the door header bracket to the width beam using M5 pan head screws.

4 Installation 179



Vertiv™ Aisle Containment System (VACS) User Manual

180

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Hang the front panel onto the slot of the door header bracket and then fix the panel using M4 pan head screws.

2.

PO

© 0 0 0 0 0 © © ©

181

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

182

3. Fix the right cover panel to the cover bracket using M5 pan head screws
bracket using M5 pan head screws.

. Fix the left cover panel to the cover

=

o o]

©

bfrmmm e

e

4 Installation



4 Installation

4.

Vertiv™ Aisle Containment System (VACS) User Manual

Install the width panel on the inner side of the containment: inserting the bottom fringes of the width panel into
the slot and fix the upper fringes to the frame using M6 countersunk screws.




Vertiv™ Aisle Containment System (VACS) User Manual

Install the brush on the width panel.

5.

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.21 Sliding Rail Cover Component (1828.8 mm (6 ft))

1. Fix the cover bracket to the width beam using M5 pan head screws. Fix the width beam to the vertical post
using M8 pan head screws.
—_———

185



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

X .|§ ’

= hual

186



4 Installation

2.

Vertiv™ Aisle Containment System (VACS) User Manual

Fix the extendable beam bracket to the extendable beam using M5 pan head screws.

3.

Fix the cover bracket to the extendable beam using M5 pan head screws.

187



Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the left steering wheel to the extendable beam using M5 pan head screws.

5. Fix the extendable beam to the vertical post using M8 pan head screws.

0 0
O"ﬁ
0’"0
O"ﬁ
0’,0
O‘"a
0’"0
o’,ﬁ
. s
E— o
/f A -
- ; 0

183 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

6. Repeat step 2 to step 5 to install the extendable beam on the other side.

7. Fix two sliding rails to the width beam and the extendable beam using M5 pan head screws.

NOTE: The sliding rail with tooth belt (amplified in the figure below) is installed on the right side.

1111111

4 Installation 189



Vertiv™ Aisle Containment System (VACS) User Manual

190

8. Fix the rail of the plastic tooth belt to the width beam and the extendable beam on the right side using M5 pan
head screws.

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

9. Fix the drive device to the width beam using M5 pan head screws.

4 Installation 191



Vertiv™ Aisle Containment System (VACS) User Manual

10. Fix the stopper to the sliding rail.

192 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.22 Semi-auto Sliding Door (1828.8 mm (6 ft))

1. Install the door guide bracket near the left vertical post.

a.

C.

Use a tape measure to determine position A (20 mm vertically from the lower right corner of the left
vertical post stand, viewing from the top). Mark position A on the floor.

Use a tape measure to determine position B (80 mm horizontally from position A). Mark position B on the
floor.

Drill a @6 hole in position A and B and install a plastic expansion tube in each hole.

2. Install the door guide bracket near the right vertical post.

a.

Use a tape measure to determine position C (20 mm vertically from the lower left corner of the right
vertical post stand, viewing from the top). Mark position C on the floor.

Use a tape measure to determine position D (80 mm horizontally from position C). Mark position D on
the floor.

Drill a @6 hole in position C and D and install a plastic expansion tube in each hole.

20 mm 20 mm

1/
k)
1

-—380 mm— ~—380 mm

1

Left vertical post

2 Left vertical post stand, viewing from the top
3 Right vertical post
4 Right vertical post stand, viewing from the top

193



Vertiv™ Aisle Containment System (VACS) User Manual

3. Fix two door guide brackets to the floor using M5 self-taping screws. Fix the door guides to the door guide
brackets using M5 pan head screws.

194 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4. Fix the end wheel to the rear hanger roller of the right door panel using M5 screws. Install the brush under the
sliding door using M4 pan head screws. The screws are installed in the inner side of the door. After that, cover
each hole above the screw using a plastic cap.

195



Vertiv™ Aisle Containment System (VACS) User Manual

196 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

5. Remove the limit screws (1) from the hanger rollers, push the two door panels into the sliding rail, and then fix
the limit screws.

-)%

o
©p
©p

©D

@)

4 Installation

197



Vertiv™ Aisle Containment System (VACS) User Manual

Adjust the gap between the door panels as follows:
a. Loosen the fixing screws (2) on the hanger rollers. Rotate the adjustable screw (1) clockwise to raise the
door panel and counter-clockwise to lower the door panel.
b. After the adjustment, tighten the fixing screws (2).

c. Check that the door can slide smoothy.

NOTE: If the door cannot slide moothly, check if the hanger rollers are within the rail and the door guide is in the

groove.

198 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

— |

4 Installation 199



Vertiv™ Aisle Containment System (VACS) User Manual

200

6. Pull the cable from the drive device and fix the cable to the front hanger roller.

To adjust the resistance of the sliding door, loosen the Phillips head screw (2), use a slotted screwdriver to
adjust the turntable (1), and then tighten the Phillips head screw (2).

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Use a rear brake to adjust the sliding speed: turn the valve clockwise to slower the speed and anti-clockwise to
faster the speed.

4 Installation 201



Vertiv™ Aisle Containment System (VACS) User Manual

7. Route the steel wire around the left steering wheel and connect one end of the wire to the threading support of
the left door panel and the other end to the threading support of the right door panel.

202 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

8. Route another steel wire around the right steering wheel and connect one end of the wire to the threading
support of the left door panel and the other end to the threading support of the right door panel. Place a washer
and a nut onto each threading support and fasten the nut.

- \Qvﬁlﬁm

After the steel wire is connected, loosen the pulley nuts (1) on the left and right steering wheels, rotate the
adjustable nuts (2) to take the slack out of the wire wrapped around the steering wheels, and then tighten the
pulley nuts (D.

203



Vertiv™ Aisle Containment System (VACS) User Manual

9. Loosen the screw (A) on the full open device, slide the full open device into the sliding rail till its edge (B)
aligns with the mark (C) on the sliding rail, and tighten the screw.

204 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

10. Insert the lock cylinder into the lock body of the right door panel and then install the lock cover. After that,
install door handles for the left door panel and right door panel.

205



Vertiv™ Aisle Containment System (VACS) User Manual

4 Installation

206



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.23 Sliding Door Header (1828.8 mm (6 ft))

1. Insert M6 pan head screws into the frame of the width connector, leaving 5 mm between the head of the screw
and the surface of the frame. Hang the door header bracket on the screws and then tighten the screws. Fix the
bottom of the door header bracket to the width beam using M5 pan head screws.

207



Vertiv™ Aisle Containment System (VACS) User Manual

208

2. Insert M6 pan head screws onto the door header adapter, leaving 5 mm between the head of the screw and the

surface of the adapter.

=
N (/]
a“\
) T
0
N

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

3. Hang the door header adapter onto the vertical post and tighten the screws. Install the door header adapter on
the door header bracket using M4 pan head screws.

/=
/>

W4
(=2

209



Vertiv™ Aisle Containment System (VACS) User Manual

210

Q)

Jin
QR

Q)
‘ QN
AN
R
O
Q

Q

=
» AN
6 .;‘ j) '& N l\

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4. Install the door header adapter on the other side.

4 Installation m



Vertiv™ Aisle Containment System (VACS) User Manual

6.

Fix the right cover panel to the cover bracket using M5 pan head screws. Fix the left cover panel to the cover
bracket using M5 pan head screws.

-y —

212

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

213

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

7. Install the width panel on the inner side of the containment: inserting the bottom fringes of the width panel into
the slot and fix the upper fringes to the frame using M6 countersunk screws.

8. Install the brush on the width panel.

AR LR RGO Th

IR

B R
- :

t

214 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

4.3.24 Fixed Roof

1. Attach the seal on the side of the fixed roof, place it on the extendable beam, and secure the fixed roof on it
using two brackets.

“o ITTTITITIINC |

Sp

\\E\

2. Secure the fixed roof using M6 self-tapping screws on the brackets.

215



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.25 Shrink Roof

1. Place the seal on the side of the shrink roof.

]

s o s o = = &

===y

T

<

2. Secure the retention bracket on both sides of the shrink roof using M6 pan head screws.

3. Place the shrink roof on the extendable beam (the bracket is placed in the groove of the extendable beam) and
secure the holder using M6 self-tapping screws.

216 4 Installation



4.3.26 Blanking Panel

1.

Slide the sheet metal on the upper side of the blanking panel to the desired position. This depends on the
installation height of the extendable beam. Paste the sealed foam of blanking panel into area A. The length of

the area A varies with the total height of the blanking panel.

q

4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

217



Vertiv™ Aisle Containment System (VACS) User Manual

2. Use M6 self-tapping screws to secure the blanking panel on the extendable beam.

i

== 1000 0S N RN/

AT,

|

@b

f’
\
Sp

]

/

218 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

3. Ifthe two blanking panels are adjacent, use connectors to connect the two panels from top to bottom. Each
blanking panel is equipped with three connectors. Insert the spring nut into the chute and use M6 countersunk
screws to lock the connecting sheet.

T1T1R1131 Y

4 Installation 219



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.27 Height Adapter & Height Adapter Brush

1. Attach the height adapter brackets to the height adapter using M4 pan head screws.

2. Use M6 self-tapping screws to attach the height adapter sub-assembly through the brackets of the height
adapter onto the extendable beam. Insert the second height adapter panel onto the first height adapter panel.
The bumps on the height adapter match the grooves.

\f

Q|

2% 33Ty °

220 4 Installation



3.

Vertiv™ Aisle Containment System (VACS) User Manual

Install the required number of height adapter panels. Install the height adapter brush strip onto the end of the
last adapter panel.

1
»

R
H b b b b b b

Q

1
S

o b &

4 Installation

221



Vertiv™ Aisle Containment System (VACS) User Manual

4. Secure the height adapter bracket to one side of the height adapter using M4 pan head screw.

209 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

5. The height adapter bracket needs to be cut according to the actual length of the adapter to meet the needs of
all configurations.

o o
0-=-0
M o=-=-0
0-=-0
8.0
8o
&0

0-+-0

0-%-0

o o ™o o o o o d"o o o

O 00 ©0 00 00 00 00 dJJ—WV|0O ©0 ©0 00 ©°00 00 o0

o @
e

o o

o o
° o

o o
° @

o o
o o

o o
° @

o o

o o

o o
o o

o o
° o

o o
o o

4 Installation 223



Vertiv™ Aisle Containment System (VACS) User Manual

6. Install the remaining parts of the height adapters.

o o
0-u-0
ro-=-o0
0-»-0
&0
#.0
8.0
0-4-0
0-4-0

0-«-0

Ton ® [«-0
. . . . |ec-0

c0 o0 oo oo o0
L] o

204 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.28 Solid Roof Filler

1. Use M6 self-tapping screws to secure the solid roof panels onto the extendable beam. If there is less than 304.8
mm (1ft) end gap (A), fill the gap with solid roof filler panels. The width of each solid roof filler panel is 2 in.
Calculate the end gap size and place the solid roof filler panels onto the extendable beam and snap in tightly.

The end sealing bracket is used to fill the vertical gap at the back end of the aisle after the assembly of the cabinet and

height adapters.

PP P PP PO

s dddddddddo

°FPrrr

X

4 Installation

225



Vertiv™ Aisle Containment System (VACS) User Manual

2. There may be gaps at the another end of the aisle. Remove the end sealing with the vertical post, install the
end bracket, and adjust the end sealing position to accommodate the different gap fillings.

INIIEEG )

CeTTEHTTIIIIED]
]

T

Item Description
1 Rack and height adapter
2 Gap

26 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

If the installation height of the extendable beam is greater than 42U, it needs to be filled with the end
bracketing of 1U and 2U. Each vertical post comes with 52U end bracket and 1U end sealing, which can be
combined to meet the needs of different extendable beam mounting heights.

Apply foam gasket to the end surface of the end sealing bracket in contact with the cabinet.

227



Vertiv™ Aisle Containment System (VACS) User Manual

228

4.3.29 Vertical Duct

The height of the vertical panel is 304.8 mm (1ft), 609.6 mm (2 ft.), or 1524 mm (5 ft.). The width of the vertical panel is
304.8 mm (1ft), 609.6 mm (2 ft) 914.4 mm (3 ft.), or 1219.2 mm (4 ft.). The 304.8 mm (1ft.) and 609.6 mm (2 ft.) wide panels
are used for the length direction of the aisle, while the 914.4 mm (3 ft.) and 1219.2 mm (4 ft.) wide panels are used for the
width direction of the aisle.

It is recommended to assemble the duct first and then hoist the duct on top of the aisle. The maximum height reached by
the vertical duct is 4572 mm (15 ft) (from the ground level).

Single Layer Duct

1. Connect two vertical panels with baying kit 1. In the interior side of the panel (indicated as A), install two
baying kits with one at the upper edge and the other at the lower edge. In the exterior side (indicated as B),
install one baying kit at the lower edge.

To install each baying kit, insert two floating nuts into the slots and secure the baying kit with two pan head
screws.

T

\

/’77
7

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

te——— e —"7

4 Installation

229



Vertiv™ Aisle Containment System (VACS) User Manual

2. Connect the rest of the vertical panels.

230 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

3. Use the L-type baying kit 2 to secure the vertical panel in the width direction.

4 Installation 231



Vertiv™ Aisle Containment System (VACS) User Manual

4. Secure the L-type baying kit 2 inside the vertical duct.

230 4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

5. The illustration below shows two 914.4 mm (3 ft) wide vertical panels installed in the aisle width direction.

6. Connect the rest of the vertical panels.

233



Vertiv™ Aisle Containment System (VACS) User Manual

304.8 mm (1D).

Install the fixed beam at the required height (A

7.

Install the rest of the beams.

8.

4 Installation

234



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

9. Secure the sliding panel on the aluminum frame of the vertical panel using floating nuts and M6 pan head
screws.

The sliding panel has a height of 304.8 mm (1 ft.) to make up for a gap of less than 304.8 mm (1 ft) between the vertical duct
and the ceiling.

235



Vertiv™ Aisle Containment System (VACS) User Manual

10. Secure the second sliding panel and secure the two adjacent sliding panels with M6 pan head screw.

1. Fix the rest of the slidings. Attach a sealed foam on the top of the sliding.

236 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

12. Install the assembled vertical duct on the frame using the lifting equipment.

237

4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

Multi-Layered Duct

Install multi-layered duct by referring to the procedures described in Single-Layered Duct. Connect the two layers using

baying kit 3.

4 Installation

238



Vertiv™ Aisle Containment System (VACS) User Manual

4.3.30 Pod Extensions

Extending a Pod

1. Determine the length and height of the extended aisle and install the vertical post and width connector.

FOASEEERESE MY

o

2. Install the extendable beam according to the instructions in Extendable Beam on page 71.

The aisle length and aisle height of the extended aisle can be adjusted. The number of aisle extensions is based on
customer site conditions.

Y I8

Installing the decorative brush

4 Installation 239



Vertiv™ Aisle Containment System (VACS) User Manual

240

There is a gap between the two adjacent vertical ducts of the extended aisle, which does not affect the system function. You

can use the decorative brushes to fill in the gap. The height of the decorative brush is 304.8 mm (1ft) or 609.6 mm (2 ft).

The installed decorative brushes should be 304.8 mm (1 ft) higher than the vertical duct. You can trim the decorative brush

to avoid its interference with the post.

P

\i

BCA 18314

Table 2.3 Combination of Decorative Brushes

Height of Vertical Duct

609.6 mm (2 ft)

Combination of Vertical Ducts

609.6 mm (2 ft)

Combination of Decorative Brushes

304.8 mm (1 ft) + 609.6 mm (2 ft)

Where to install

3048 mm (1fHon
vertical duct frame
609.6 mm (2 ft) on duct
sliding

914.4 mm @3 ft)

609.6 mm (2 ft) + 304.8 mm (1
O

609.6 mm (2 ft) + 609.6 mm (2 ft)

609.6 mm (2 fHon
vertical duct frame
609.6 mm (2 ft) on duct
sliding

1219.2 mm (4 ft)

609.6 mm (2 ft) + 609.6 mm (2
19)

609.6 mm (2 ft) + 304.8 mm( ft) + 609.6
mm (2 ft)

609.6 mm (2 ft) + 304.8
mm (1 ft) on vertical duct
frame

609.6 mm (2 ft) on duct
sliding

1524 mm (5 ft)

1524 mm (6 ft)

609.6 mm (2 ft) + 609.6 mm (2 ft) + 609.6
mm (2 ft)

609.6 mm (2 ft) + 609.6
mm (2 ft) on vertical duct
frame

609.6 mm (2 ft) on duct
sliding

1828.8 mm (6 ft)

1524 mm (6 ft) + 3048 mm (1

1524 mm (5 ft) + 609.6 mm (2 ft)

1524 mm (5 ft) on vertical

4 Installation



4 Installation

Vertiv™ Aisle Containment System (VACS) User Manual

Table 2.3 Combination of Decorative Brushes (continued)

Height of Vertical Duct

Combination of Vertical Ducts

ft)

Combination of Decorative Brushes

Where to install

duct frame
609.6 mm (2 ft) on duct
sliding

2133.6 mm (7 ft

1524 mm (5 ft) + 609.6 mm (2
f

1524 mm (6 ft) + 304.8mm (1 ft) + 609.6
mm (2 ft)

1524 mm (6 ft) + 304.8
mm (1 ft) on vertical duct
frame

609.6 mm (2 ft) on duct
sliding

2438.4@8fD)

1524 mm (5 ft) + 609.6 mm (2
ft) +304.8 mm (1 ft)

1524 mm (5 ft) + 609.6 mm (2 ft) + 609.6
mm 2 ft)

1524 mm (5 ft) + 609.6
mm (2 ft) on vertical duct
frame

609.6 mm (2 ft) on duct
sliding

241



Vertiv™ Aisle Containment System (VACS) User Manual

This page intentionally left blank

2% 4 Installation



Vertiv™ Aisle Containment System (VACS) User Manual

5 General Maintenance

5.1 Safety Measures

Follow the safety guidelines below:

e System maintenance must be completed by trained and authorized service personnel.
e All maintenance operations must be in accordance with local protocols and laws.
e Ignoring safety guidance can put human life and surroundings at risk.

e Inappropriate parts can lead to reduced performance or equipment downtime. Therefore, original components
and recommended parts must be used.

5.2 Dismantling the System

At the end of the useful life, when Vertiv™ Aisle Containment System is dismantled, the operation must be carried out by
specialized technicians. The system must be delivered to suitable centers specialized in the collection and disposal of
equipment.

5 General Maintenance 243



Vertiv™ Aisle Containment System (VACS) User Manual

6 Appendices

System

ing

Schematic of Lighti

Appendix A

NN T

14

J0sues
uojjow

}08UU0DsIp XoInb Bulu] —<¢¢&—

usBID MO[PA-ND/A  enig-1g umoig-ug BULIM JOA 0ZZ~01 L Y
$9p02 J0j00 BUIM $S9J0N
(" SOM w 2 YOM INIOd ANNO¥D
mm|>) — a4 Nolk
e —— g L N
1 [SE \ — |l
T8\ Z0M (@
B0M B0M j )
YOM ®|A|::zl® — h \
4 ECI I, N N, I %|I
Org GOM I|um . —
W._m|\ N 1 Mg Y eom hco,h._o_.c Zom ol —Hg - | ] LoM
EE] g \ ' g
S0M Nt 90M
B D
0=
T
) =
T
A
60M 60M Z0M Nad A9 ¥Imod
% w \§ J
oLM
LOM 90M
—— yoyms ——

6 Appendices

24



6 Appendices

Appendix B: Workflow of Lighting System

Vertiv™ Aisle Containment System (VACS) User Manual

YES

!

Lightingon

End

Swifch on?

|
NO

!

Motion sensor
working

h 4

Detecting
movenent?

Lighting on

h 4

Lighting off

245



Vertiv™ Aisle Containment System (VACS) User Manual

Guide

ion

Door Lock Installati

Appendix C

Apadoud suonouny 8seo)00]
\ P 8y} 8ins 8BW pue 3o8yo

‘uone|lelsul JBY g
*SMaI0S Upm ajeld ayuys

uay} sajoy pasedaud ay}
0} X0Q &is au} Jiejsul |

AVAY

\VAS

9se0300| ypm Buiyoyew aie Japuljhko

pue a|puey JaAa] Jo} sajoy pasedalid ay} ains ayep
MaIOS

ay} uayybn uay} Joop Y} 0} 8SBOYI0| BYj} |[eIsu|

@

(V) suonsisod |edipaA
8y} yJew o} awedy ay} Jo aBpa a8y} OJUO }j0q Peap pue }joq Yoje| WoJj Saul| 8y} Jejsuel] g
awiely 8y} ojuo uonisod }j0q PESPAIO] YoIe| S} Sew pue Joop 8y} 8sol) |

(3logpeaQ)

-— — J00Q
awel
>

(30q yoe)

)
\
)
\
N
\

) S ) S ) S

v A4 v
uononAsul od |
uonesedaud ajoy Joj Jojal ases|d azis ssjoy pajievg € xoq
BU|[18}Ud9 JOOP O} [BOIUBA oaqus

8q pnoys Japuijkd pue |puey JoAsT Joy S8I0H ¢
aulUBD
JOOP UO 8q PINOYS pualoy Jo s8joy ay} AjlewdoN |
<
!

sulpsjua) Joodg 1

L'}
!\pf m_i %9
awel
>

uone||ejsul sjeid axS

od |

sodz :ZIXSN
o ld  sodz :gzx#Ol
NS :pualo

N SIN/PIN

SM3I0S

auIyoep
L]
[
9

uoijoalIQ 8|qISIaASY 8SBOY00

awelq

)

JooQ

sodg :ZIXpN
sodg :9)Xx#8
:aje|d 9y

#OL/#8
SM3.0S

USPOOM

B

SO1I0SS800Y

6 Appendices

246



Vertiv™ Aisle Containment System (VACS) User Manual

247

sod ¢ sod g sod g sod ¢
YN SN #01 #8
SMBJIOS BUIYde SMB3IOS dUIYoBH\ SMBIOS UBPOOAN SMI0S UBPOOAL
JAN
W oW n mm =
Foar ]
S A\ =
‘9 589 [
889 smauog Buixiy
N
€
T L]
R 2| | ;
N -
e @ 17y
vy & €01
n
\J a I

S o +

S'8
01

81
+
"6
Van
AV
0e
»?If

™
0
0
K oom

™S
| Q
T
_
. 1
S0t !
2 | e ]
) ~ 9
~ i M LH o~ |~ 7 O
7 a ! a | /88 T O
-V 6 _ 33 01 ) @
-1l 63 | o |a n 6 R
= H— o W ﬂ o o _ w p } 02 J
q ﬂ f 1 Y j D ﬁw ®
G9 : ™~ i 0 0
-
_ o 8¢
3 | B = 8 | i ¢ N
w w
B o L
Sl B _ Q. = 10
| lin ; N
o R o 5
ol
n ! o J = _ [l
) Cmul — ’
/e o ] | 4
v2 | w
22 ov Sco-¢ T |
{ 6 SS
18004 Jjog apeld Bupiis ejeld pusio 8 , Apog 007

6 Appendices



Vertiv™ Aisle Containment System (VACS) User Manual

sod ¢

Aoy ajdwis

62

sod |

smalog Buixi4

G9

G

0€ _0|'_

Syl

S'/o

6 Appendices

248



Vertiv™ Aisle Containment System (VACS) User Manual

sod ¢

WW9LXGN
SMJOS BUIYOBI

S

sod od |
wwogxyiN wwg
SM3IOS XoH fio XoH

0v1
-~ - T T ~
g 7, O
ﬁ J w
il
4 L0ZSNs gXLGo aseq S
4 ¥0€SNS BXgGg | UOdYANos3 | ¢
z L0Zsns 8X1G @ aseq €
4 Y0€SNS (0142613 s|puey [4
4 ¥0ESNS 6XEG @ J9n00 8s0d| L
JaquinN leusie|y ozIS Hed way

S0Ep

19A0D

uoayonNosy

uonoNJISU| Uone|jelIsy|

249

6 Appendices



Vertiv™ Aisle Containment System (VACS) User Manual

250

Appendix D: Vertical Post and Floor Stand Position

| +127

mm

18288 mm (6 ft)
12192 mm (4 ft)
3048 mm (3 ft)
40 mm
l’ ! irg Iy Irg
[ Pl | | |4
f
122mm — Vertical post
11084 mm
14132 mm
20228 mm

—LEH

Note : L= Aisle length

6 Appendices



Vertiv™ Aisle Containment System (VACS) User Manual

18288 mm (6 ft)
12192 (4 )
9144mm (3t
| J—WGO mm |
o \ Floor Stand
«i | 2 = o ¢ Vertical Post
10 mm
10964 mm
14012 mm
20108 mm
L
L+100 mm

Note : Aisle length=L

6 Appendices 251



Vertiv™ Aisle Containment System (VACS) User Manual

Appendix E: Door Closer Installation Guide

1. ACCESSORIES

=

0 ACCESSORY

QUANTITY|

BODY

SLIDE PIN

SCREW

SLHE PALLET

SCREW M5X12

GASKET

STATOR PALLET

RIGHT-HAND DOOR

LEFT-HAND DOOR

HEXAGON SOCKET SEREW M8 X 12

SCREW ST4.8X25

(0]
0]
®
®
©
®
@ SLIDE RAIL
®
®
®
®
(0]
®
®

SCREW M5X14

2. SPEED ADJUST

.

3. OPENNING DEGREE (STO

DEGREE)

koose
INOTE : Tighten\>
OPEN THE DOOR TO THE DEGREE
INEEDED, FASTEN THE SCREW. IF IT
IS NON-HOLD OPED (STOP) , LOOSEN
[THE SCREW.

\_THE FIRST ADJUSTABLE RANGE

NS A OIR

STATOR PALLET ADJUSTING NUT  SLIDE PIN
)

(weak-{_}+strong)

CONCEALED DOOR CLOSER INSTALLATION AND INSTRUCTION

5. BODY INSTALLATION FOR LEFT-HAND

DOOR AND RIGHT-HAND DOOR

/~ @©BoDY

SCREW ST4.8X25

WO SCREWS IN THE BODY
CLOCK WTST.

INSTALLATION SCREW M5X 14
SCREW M5X 14
SATOR
BODY
NOTE: CLOSE THE UNUSED
T
- J

4 @SLIDE INSTALLATION

o SLIDE PALLET
“®_ SLIDE ACCESSORY
\____ STATOR ACCESSORY

: \———SCREW M5X14

‘&SCREW ST4. 8X 25
SLIDE

\
Ve
(®CONNECTION OF BODY AND MAIN ARM
SCREW SCREW M5 12
R GASKET
‘
%
>
\ J

@CONNECTION OF SLIDE PALLET AND MAIN ARM

SCREW

SCREW /A
IS
\_

p
®ADJUST OF CLOSE

/" 4.Hold Open angle adjustment| SPEED
\ _J

252

6 Appendices



Connect with Vertiv on Social Media
n https://www.facebook.com/vertiv/
https://www.instagram.com/vertiv/

m https:/www.linkedin.com/company/vertiv/

y https:/www.twittercom/Vertiv/

Vertiv™ Aisle Containment System (VACS) User Manual



W¢ VERTIV.

Vertiv.com | Vertiv Headquarters, 1050 Dearborn Drive, Columbus, OH, 43085, USA

© 2021 Vertiv Group Corp. All rights reserved. Vertiv™ and the Vertiv logo are trademarks or registered trademarks of Vertiv Group Corp. All
other names and logos referred to are trade names, trademarks or registered trademarks of their respective owners. While every precaution has
been taken to ensure accuracy and completeness here, Vertiv Group Corp. assumes no responsibility, and disclaims all liability, for damages

resulting from use of this information or for any errors or omissions. Specifications, rebates and other promotional offers are subject to change at
Vertiv's sole discretion upon notice.

SL-70679_REVA_03-21



	1 Important Safety Instructions
	2 Product Overview
	2.1  Product Features
	2.2  Appearance and Components
	2.3  Weight Bearing Capacity
	2.4  SKU List
	2.5  Environmental Requirements
	2.5.1  Operating Conditions
	2.5.2  Storage Conditions
	2.5.3  Clearance Requirements
	2.5.4  Floor Loading


	3 Pre-Installation
	3.1  Installation Tools
	3.2  Equipment Handling, Unpacking, and Inspection

	4 Installation
	4.1  Component Identification
	4.1.1  Right Swing Door
	4.1.2  Left Swing Door
	4.1.3  Swing Door Header (914.4 mm (3 ft) and 1219.2 mm (4 ft))
	4.1.4  Swing Door Header (1828.8 mm (6 ft))
	4.1.5  Swing Door Frame
	4.1.6  Vertical Post
	4.1.7  Width Connector
	4.1.8  Extendable Beam
	4.1.9  Floor Stand
	4.1.10  Shrink Roof
	4.1.11  Fixed Roof
	4.1.12  Cantilever Arm
	4.1.13  Blanking Panel
	4.1.14  Height Adapter
	4.1.15  Height Adapter Brush
	4.1.16  Solid Roof Filler
	4.1.17  Lighting Kits
	4.1.18  Cable Package
	4.1.19  Alignment Tool
	4.1.20  Vertical Duct
	4.1.21  Fixed Beam
	4.1.22  Vertical Duct Attachment
	4.1.23  Vertical Duct Sliding
	4.1.24  Extend Pod Brush
	4.1.25  Right Opening Sliding Door (914.4 mm (3 ft))
	4.1.26  Left Opening Sliding Door (914.4 mm (3 ft))
	4.1.27  Sliding Door (1219.2 mm (4 ft))
	4.1.28  Sliding Door (1828.8 mm (6 ft))
	4.1.29  Right Opening Door Sliding Rail Cover Component (914.4 mm (3 ft))
	4.1.30  Left Opening Door Sliding Rail Cover Component (914.4 mm (3 ft))
	4.1.31  Sliding Rail Cover Component (1219.2 mm (4 ft))
	4.1.32  Sliding Rail Cover Component (1828.8 mm (6 ft))
	4.1.33  Sliding Door Header (914.4 mm (3 ft) and 1219.2 mm (4 ft))
	4.1.34  Sliding Door Header (1828.8 mm (6 ft))

	4.2  Floor Preparation (Concrete or Raised Floor System)
	4.3  Installation Guide
	4.3.1  VACS Deployment Process
	4.3.2  Alignment Tool
	4.3.3  Vertical Post
	4.3.4  Width Connector
	4.3.5  Extendable Beam
	4.3.6  Cantilever Arm
	4.3.7  Lighting System
	4.3.8  Swing Door Frame
	4.3.9  Swing Door Header
	4.3.10  Swing Door
	4.3.11  Sealing Foam
	4.3.12  Sliding Rail Cover Component (for 914.4 mm (3 ft) Right Opening Sliding Door)
	4.3.13  Semi-auto Sliding Door (for 914.4 mm (3 ft) Right Opening Sliding Door)
	4.3.14  Sliding Door Header (for 914.4 mm (3 ft) Right Opening Door)
	4.3.15  Sliding Rail Cover Component (for 914.4 mm (3 ft) Left Opening Door)
	4.3.16  Semi-auto Sliding Door (for 914.4 mm (3 ft) Left Opening Door)
	4.3.17  Sliding Door Header (for 914.4 mm (3 ft) Left Opening Door)
	4.3.18  Sliding Rail Cover Component (1219.2 mm (4 ft)
	4.3.19  Semi-auto Sliding Door (1219.2 mm (4 ft))
	4.3.20  Sliding Door Header (1219.2 mm (4 ft))
	4.3.21  Sliding Rail Cover Component (1828.8 mm (6 ft))
	4.3.22  Semi-auto Sliding Door (1828.8 mm (6 ft))
	4.3.23  Sliding Door Header (1828.8 mm (6 ft))
	4.3.24  Fixed Roof
	4.3.25  Shrink Roof
	4.3.26  Blanking Panel
	4.3.27  Height Adapter & Height Adapter Brush
	4.3.28  Solid Roof Filler
	4.3.29  Vertical Duct
	4.3.30  Pod Extensions


	5 General Maintenance
	5.1  Safety Measures
	5.2  Dismantling the System

	6 Appendices
	Appendix A:  Schematic of Lighting System
	Appendix B:  Workflow of Lighting System
	Appendix C:  Door Lock Installation Guide
	Appendix D:  Vertical Post and Floor Stand Position
	Appendix E:  Door Closer Installation Guide

	Bookmarks
	Table1.2
	Table1.3
	Figure1.2
	Figure2.1
	Table2.1
	3.1Component
	Appendix_Schematic
	Appendix_Door


